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Which one of the following is the synonym of the word written
in capital letters in the sentence, “The FUNDAMENTAL
character of an individual defines his entire life”?

(a) Productive (b) Essential

(c) Successful (d) Effective

Which one of the following is the synonym of the word
written in capital letters in the sentence, “She has the habit
of using HACKNEYED and redundant examples from her
past even while dealing with the future generation”?

(a) Indifferent (b) Imaginative

(c) Clichéd (d) Impressive

Which one of the following is the synonym of the word written
in capital letters in the sentence, “She is an IMMACULATE
soul whose presence makes all the difference”?

(a) Spotless (b) Excited

(c) Extraordinary (d) Unparalleled

Which one of the following is the antonym of the word
written in capital letters in the sentence, “There is a great
deal of ENMITY”?

(a) Amity (b) Cooperation

(c) Dispute (d) Hostility

Which one of the following is the antonym of the word written
in capital letters in the sentence, “She was RELUCTANT to
sell her car”?

(a) Anxious (b) Happy

(c) Eager (d) Unwilling

Which one of the following is the antonym of the word
written in capital letters in the sentence, “I cannot comply
with the QUEER regulations of your land”?

(a) Strange (b) Nimble

(c) Everyday (d) Customary

Which one of the following parts of the sentence, “As you
know that the ignorant are easily duped”, has an error?

(a) Asyou know (b) that the ignorant

(c) are easily duped (d) No error

Which one of the following parts of the sentence, “After a
lot of argument I brought him forward to my point of view”,
has an error?

(a) After alot of argument (b) I brought him forward
(c) to my point of view (d) No error

Which one of the following parts of the sentence, “Don’t ask
him how he is because if he starts talking about his health
you’ll never get off from him”, has an error?

(a) Don’t ask him how he is because

(b) if he starts talking about his health you’ll never

(c) get off from him

(d) No error

Which one of the following words can be used as a substitute
for the phrase, “A nursery where children of working parents
are cared for while their parents are at work™?

(a) Sculler (b) Créche

(¢) Dormitory (d) Refectory
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Which one of the following words can be used as a substitute
for the phrase, “That which cannot be taken by force”?

(a) Impossible (b) Improbable

(c) Impeccable (d) Impregnable

Which one of the following is the appropriate question tag
in the sentence, “Take a seat, 797

(a) shall you? (b) can’tyou?

(¢) won’t you? (d) would you?

Which one of the following is the appropriate question tag
in the sentence, “Anyone can make mistakes, ”?
(a) isn’tit? (b) shall they?

(¢c) can’tthey? (d) isit?

Which one of the following phrasal verbs may be used in
the blank space in the sentence, “He is fond of art and seems
(suited) to be an artist™?

(a) fitout (b) bring out

(c) cutout (d) suit out

Which one of the following phrasal verbs may be used in the

blank space in the sentence, “We were happy in the beginning,

but now all the troubles have (appeared)”?

(a) cropped up (b) come about

(¢) come out (d) rushed in

Which one of the following phrasal verbs may be used in

the blank space in the sentence, “No one knows how it all
(happened)”?

(a) came across (b) came about

(c) came into (d) came forward

Which one of the following phrasal verbs may be used in the

blank space in the sentence, “I have to (finish)

this work before I leave tomorrow morning”?

(a) clearup (b) cleanup

(c) finish up (d) do away with

Which one of the following prepositions may be used in the

blank space in the sentence, “He lived a hand

mouth existence, surviving on just a few rupees a week”?

(a) in (b) to

(c) for (d) inside

Which one of the following can be used as a substitute for

the words written in capital letters in the sentence, “There

is no meaning to CRY OVER THE SPILT MILK since the

matter is over”?

(a) Nouse of worrying about (b) No use of spilling now

(c) No use of celebration (d) No use of asking for

Which one of the following can be used as a substitute for

the words written in capital letters in the sentence, “Serving

the sufferers is true YEOMAN’S SERVICE”?

(a) Arisky job (b) An amusing job

(c) An excellent work (d) An unwanted job

Who is the author of the work, The Evolution of Provincial

Finance in British India: 4 Study in the Provincial

Decentralization of Imperial Finance?

(a) Dadabhai Naoroji (b) Dr. B. R. Ambedkar

(¢) M.N.Roy (d) Jawaharlal Nehru
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In the context of international affairs, which one of the

following is correct about Lord Curzon?

(a) He advocated a pacifist policy.

(b) He wanted to establish a British sphere of influence
over the Persian Gulf and Seistan.

(¢) He wanted England and Russia to become friends
against China.

(d) He wanted to lead a flag-waving mission to the USA.

Which one of the following is correct about Assam in British

India?

(a) It was a part of the North-East Frontier Agency.

(b) It was made a province in 1865.

(c) It was separated from Bengal in 1874, and along with
Sylhet made into a Chief Commissioner’s province.

(d) It was a Princely State ruled by Ahom kings.

What were the peasant associations set up in Kerala in the

1930s called?

(a) Kisan Sabha (b) Kirti Kisan

(¢) Karshaka Sangam (d) Kisan Morcha

Why did the Congress declare 9" May to be “Ethiopia Day’?

(a) Because the Ethiopians declared their support for the
cause of Indian independence from British rule.

(b) Because Ethiopia became independent from Britain on
that day.

(c) Because Ethiopia was attacked by Italy in early 1936
and their resistance was considered freedom struggle.

(d) Because Ethiopian leaders denounced Mussolini.

Who set up the Bharat Stree Mahamandal which first met

in Allahabad in 1910?

(a) Annie Besant (b) Meherbai Tata

(¢) Saraladevi Chaudhurani(d) Tarabai Shinde

Which one of the following is not a feature of the Non-

Cooperation Movement?

(a) Economic boycott was intense and successful.

(b) The middle class participated in very large numbers in
the movement.

(c) It was marked by uneven geographical spread and
regional variations.

(d) Along with Non-Cooperation, other Gandhian social
reform movements like the anti-liquor campaign
achieved some success.

Which one of the following publications was started by Khan

Abdul Ghaffar Khan in 1928?

(a) Pakhtun (b) Khudai Khidmatgar

(¢) Young India (d) India Awakens

Who among the following was the founder of the Arya

Mabhila Samaj in the early 1880s?

(a) Swami Dayananda Saraswati

(b) Swami Vivekananda

(c) Pandita Ramabai

(d) Ramabai Ranade

Who among the following is considered to be the first Indian

to go to jail in performance of his duty as a journalist?

(a) Mahatma Gandhi (b) Rabindranath Tagore

(¢) Lokmanya Tilak (d) Surendranath Banerjee

Which of the following was/were the reason/reasons for the

lack of economic development in India in the 19" century?

1. Officially the British Government was committed to a
policy of laissez-faire, but it was actually a policy of
discriminatory intervention.

32.
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2. European entrepreneurs had connections to banks and
agency houses, while Indians had to rely on kin, family
and caste men.

3. When plantations were transferred to individual capitalist
ownership, native investors were deliberately ignored.

Select the correct answer using the code given below.

(a) 1only (b) 2 and3 only

(¢) 1and3 only (d) 1,2and3

Which social reformer’s autobiography, entitled Looking

Back, describes his experiences in setting up schools for

women in Poona in the 1890s?

(a) Dhondo Keshav Karve (b) K. T. Telang

(c) Jyotirao Phule (d) Dr. B. R. Ambedkar

Who was the first Director General of the Archaeological

Survey of India?

(a) John Marshall (b) Alexander Cunningham

(¢) Mortimer Wheeler (d) Francis Buchanan

Which of the following works was not contributed by the

famous social reformer Begum Rokeya?

(a) Ardhangi (b) Griha

(¢) Mother India (d) Sultana’s Dream

Which one of the following is not a characteristic of the

Mughal chronicles?

(a) They present a continuous chronological record of events.

(b) They were a repository of factual information about
the Mughals.

(c) They allow us to understand how imperial ideologies
were created and disseminated.

(d) They contain brief biographies of the authors of the
chronicles.

Which one of the following statements regarding an Overseas

Citizen of India (OCI) is not correct?

(a) An OCl is a citizen of another country.

(b) An OCI possesses multiple-entry long-term visa for
visiting India.

(¢) An OCl is at par with NRIs in all matters.

(d) An OCI is not entitled to the fundamental right to
equality of opportunity in public employment.

Which one of the following is not a feature of the Aadhaar

(Targeted Delivery of Financial and other Subsidies, Benefits

and Services) Act, 20167

(a) Only citizens of India are entitled for enrolment under
this Act.

(b) Both demographic and biometric information is to be
submitted for enrolment.

(¢) The Unique Identification Authority of India is responsible
for enrolment and authentication under this Act.

(d) It is the responsibility of the Unique Identification
Authority to ensure the security of identity of individuals.

Forced labour or beggar is a violation of which one of the

following Articles of the Constitution of India?

(a) Article 16 (b) Article 17

(c) Article 19 (d) Article 23

Which one of the following statements regarding the

Constituent Assembly of India is not correct?

(a) The Constituent Assembly was composed of members
who had been elected indirectly by the Members of the
Provincial Legislative Assembly.

(b) The Constituent Assembly held its first sitting on 9th
December, 1946.
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(c) The seats in each province were distributed among the
three main communities—Muslim, Sikh and General,
in proportion to their respective populations.

(d) The method of selection in the case of representatives
of Indian States was to be determined by the Governor-
General of India.

Which one of the following is not a constitutional body?

(a) The Election Commission of India

(b) The Finance Commission

(¢) The Official Languages Commission

(d) The National Commission for Women

Which one of the following is not a feature of monopolistic

competition?

(a) Large number of buyers and sellers in the market

(b) Differentiated products constitute the market

(c) Product in the market is homogeneous

(d) Selling costs are used for sale promotion

Social cost is higher than economic cost because

(a) society is bigger than economy

(b) society includes polity, while economy does not include it

(c) cost borne by bystanders is positive

(d) society includes both consumers and producers

Cess on coal at X100 per ton is a type of

(a) carbon tax

(b) carbon subsidy

(c) carbon incentive for technology

(d) carbon incentive for selling carbon permit

Core inflation is different from headline inflation because

the former

(a) ignores articles of volatile nature in the price index

(b) considers articles of volatile nature in the price index

(c) is not based on commodity price index

(d) considers only core items of consumption in the price index

Who among the following is the author of the book, Choice

of Techniques?

(a) A.K.Sen (b) K.N.Ragj

(¢) V.K.R.V.Rao (d) Sukhamoy Chakravarty

Which one of the following bodies has formulated the

‘National Student Startup Policy’, launched by the President

of India in November 20167

(a) UGC (b) NCERT(c) AlU (d) AICTE

Who among the following was the Chairman of the Working

Group for determining the methodology for construction of

Producer Price Index (PPI) in India (2014)?

(a) Saumitra Chaudhury (b) D. V. Subbarao

(c) Abhijit Sen (d) B.N. Goldar

Which one of the following schemes is aimed at all-round

development of adolescent girls in the age group of 11-18

years and making them self-reliant?

(a) RGSEAG (b) IGMSY

(¢) NMEW (d) RMK

Panchayats (Extension to the Scheduled Areas) Act, 1996

permits self-governance of natural resources by

(a) Gram Sabha

(b) Gram Panchayat

(¢) The Chairman of Gram Panchayat

(d) Forest dwellers of a village situated in the areas mentioned
in the Fifth Schedule of the Constitution of India

Which one of the following countries is not a member of WTO?

(a) Japan (b) China (c) Iran (d) Russia

51.
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A StandUp enterprise can be established in

1. farming sector 2. manufacturing sector
3. service sector 4. trading sector

Select the correct answer using the code given below.
(a) 1,2and4 (b) 1,3and4

(¢) 1,2and3 (d) 2,3and4

Who among the following were conferred with Rajiv Gandhi

Khel Ratna Award for the year 2016?

1. Jitu Rai 2. Dipa Karmakar

3. P.V.Sindhu 4.  Sakshi Malik

Select the correct answer using the code given below.

(a) 2 and 3 only (b) 2,3 and4 only

(¢) 1and4 only (d) 1,2,3and4

ISRO in August 2016 successfully test launched Supersonic

Combustion Ramjet (Scramjet) Engine. Which of the

following statements with regard to Scramjet Engine is/are

correct?

1. Itcanefficiently operate both in subsonic and supersonic
combustor modes.

2. Indiais the first country to demonstrate the flight testing
of a Scramjet Engine.

Select the correct answer using the code given below.

(a) 1only (b) 2 only

(c) Both1and2 (d) Neither 1 nor 2

Startup Hubs are agreed to be set up in

1. MITs 2. IISERs

3. NITs 4.  Central Universities
Select the correct answer using the code given below.
(a) 1,2and3 (b) 1and4 only

(¢) 3 and4 only (d) 1,3and4

StandUp India Programme envisages each bank branch to
give loan between Z10 lakh to ¥100 lakh

1. to at least one SC/ST borrower

2. to at least one woman borrower

3. to at least one rural unemployed youth borrower
Select the correct answer using the code given below.

(@ lonly (b) 2and3 (¢) land3 (d) land2
In case of gold, revenue is recognized in the accounting
period in which the gold is

(a) delivered (b) sold

(¢) mined (d) identified to be mined
As per the traditional approach, the expense to be matched
with revenue is based on

(a) original cost (b) opportunity cost

(c) replacement cost (d) cash cost

Preliminary expenses are the examples of

(a) capital expenditure

(b) capital gain

(c) deferred revenue expenditure

(d) revenue expenditure/expense

Depreciation of fixed assets is an example of

(a) deferred revenue expenditure

(b) capital expenditure

(c) capital gain

(d) revenue expenditure/expense

In the context of accounting, the term IFRS stands for

(a) International Financial Reporting Standards

(b) Indian Financial Reporting Standards

(¢) Indian Financial Reporting System

(d) International Financial Reporting System
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From the information given below, calculate the sum  72.

insurable:

Date of fire—01.03.2016

Turnover from 01.03.2015 to 29.02.2016—=88,00,000
Agreed GP ratio—20%

Special circumstances clause provided for the increase of
turnover by 10%

(a) 19,36,000 (b) 48,40,000

(c) 10,32,000 (d) 24,20,000

Income and Expenditure Account is

(a) Real Account

(¢) Nominal Account
Legacies are generally
(a) capitalized and taken to Balance Sheet

(b) treated as income

(c) treated as expenditure

(d) capitalized and taken to Suspense Account 74
The abnormal loss on consignment is credited to

(a) Profit and Loss Account

(b) Consignee’s Account

(c) Consignment Account

(d) Income and Expenditure Account

When goods are purchased for the Joint Venture, the amount
is debited to

(a) Purchase Account

(b) Joint Venture Account

(c) Venturer’s Capital Account

(d) Profit and Loss Account

Consider the following information:

Rate of gross profit—25% on cost of goods sold
Sales—=<20,00,000

Which one of the following is the amount of gross profit?
(a) %5,00,000 (b) 6,25,000

(c) 3,75,000 (d) 4,00,000

Branch Account under Debtors System is

(a) Real Account (b) Personal Account

(¢) Nominal Account (d) Liability Account

The cost of electric power should be apportioned over
different departments according to

(a) horsepower of motors

(b) number of light points

(c) horsepower multiplied by machine hours

(d) machine hours

(d) Capital Account

Under which Schedule of the Companies Act, 2013, the 78.

formats of financial statements are prescribed?

(a) Schedule I (b) Schedule II

(c) Schedule IIT (d) Schedule IV

In the absence of any provision in the partnership agreement,
profits and losses are shared by the partners

(a) in the ratio of the capital of partners 79.

(b) equally
(¢) intheratio of loans given by them to the partnership firm
(d) intheratio of the initial capital introduced by the partners

Works Committee, Safety Committee and Canteen  80.

Management Committee are the examples of
(a) workers’ participation in management
(b) workers’ education schemes

(c) workers’ cooperatives

(d) workers’ suggestion schemes

(b) Personal Account 73.

75.

77.

Which one of the following is not part of the aims and

purposes of the ILO as per Philadelphia Declaration?

(a) Labour is not a commodity.

(b) Freedom of expression and of association are essential
to sustained progress.

(c) Poverty anywhere constitutes danger to prosperity
everywhere.

(d) The war against want requires to be carried on with
unrelenting vigour within each nation and is solely the
responsibility of the government.

Which one of the following is an exception from the five

functional types of unionism identified by Robert Hoxie?

(a) Business Unionism

(b) Predatory Unionism

(¢) Revolutionary Unionism

(d) Evolutionary Unionism

. Which one of the following is the process in which

representatives of workmen and employer involved in an
industrial dispute are brought together before a third person or
group of persons who facilitates/facilitate through mediation
to reach a mutually satisfactory agreement?

(a) Arbitration (b) Adjudication

(c) Conciliation (d) Collective negotiation
Questions relating to the application or interpretation of a
standing order certified under the Industrial Employment
(Standing Orders) Act, 1946 may be referred to

(a) Industrial Tribunal

(b) Labour Commissioner

(c) Labour Court

(d) Industrial Employment Court

. A union whose membership may cover workers employed

in many industries, employment and crafts is known as

(a) industrial union

(b) general union

(c) craftunion

(d) region-cum-industry level union

Which one of the following perspectives of industrial relations
is based on the assumption that both the parties strive (and
have opportunity) to exercise economic (wages and benefits)
as well as political (control) power?

(a) Pluralistic perspective (b) Unitary perspective

(c) Radical perspective (d) Trusteeship perspective
The provision of workers’ participation in management of
industries is provided under

(a) Article 39A of the Constitution of India

(b) Article 43A of the Constitution of India

(c) Article 42 of the Constitution of India

(d) Article 43B of the Constitution of India

Which one of the following is not a trade union security
measure?

(a) Closed shop system  (b) Agency shop system

(¢) Open shop system (d) Union shop system
Which one of the following is statutory machinery functioning
at the central level?

(a) Central Implementation and Evaluation Committee
(b) Central Board for Workers’ Education

(¢) Standing Labour Committee

(d) Employee’s State Insurance Corporation
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Which one of the following explains the ‘citizen concept’

of labour?

(a) Labouris largely regarded by the employers as operating
organizations in industry.

(b) Labour is affected by the law of demand and supply.

(c) Labour has aright to be consulted in regard to the terms
and conditions under which they are supposed to work.

(d) Labour is a cog in the machine.

Who among the following can be appointed as the Chairman

of the Central Advisory Board constituted by the Central

Government under the Minimum Wages Act, 1948?

(a) One of the independent members of the Board

(b) One of the employers’ representatives of the Board

(c) One of the employees’ representatives of the Board

(d) A functionary of the Central Government nominated
by the Government

Which one of the following comes under the ‘State List’

under the Seventh Schedule of the Constitution of India?

(a) Relief of the disabled and unemployable

(b) Regulation of labour and safety in mines

(¢) Regulation and control of manufacture, supply and
distribution of salt

(d) Social security and social insurance

The assumption that “man is selfish and self-centered, and

always tries to achieve his own ends even at the cost of

others” explains which theory of labour welfare?

(a) Placating theory (b) Police theory

(c) Religious theory (d) Philanthropic theory

Dr. Aykroyd’s formula is associated with determination of

(a) fair wage (b) minimum wage

(c) living wage (d) real wage

“Everyone as a member of the society has the right to social

security, and is entitled to realization through national

efforts and international cooperation and in accordance with

the organization and resources of each state of economic,

social and cultural rights indispensable for his dignity and

free development of his personality.” This statement which

is emphasizing the importance of social security has been

expressed in which of the following?

(a) Universal Declaration of Human Rights

(b) Philadelphia Declaration of the ILO

(c) Report of the First National Commission on Labour

(d) Directive Principles of State Policy of the Indian
Constitution

For the first time in India, medical benefit as a non-cash

benefit was provided under

(a) the Employees’ State Insurance Act, 1948

(b) the Factories Act, 1948

(c) the Maternity Benefit Act, 1961

(d) the Mines Act, 1952

Which one of the following is the correct set of contingencies

identified by William Beveridge in his comprehensive social

security scheme?

(a) Want, disease, ignorance, squalor and idleness

(b) Want, sickness, disability, squalor and idleness

(c) Want, disease, old age, squalor and unemployment

(d) Disease, invalidity, old age, unemployment and ignorance

Which one of the following statements is not correct for

Atal Pension Yojana?

90.

(a) There is guaranteed minimum monthly pension for the
subscribers ranging between T 1,000 and 5,000 per month.

(b) The benefit of minimum pension would be guaranteed
by the Government of India.

(¢) Government of India co-contributes 50% of the
subscriber’s contribution or ¥1,000 per annum,
whichever is lower.

(d) TItisapplicable to all citizens of India aged above 40 years.

Which one of the following is the amount of annual premium

of the Pradhan Mantri Suraksha Bima Yojana (PMSBY) for

accident and disability cover up to 32,00,000?

(a) %100 (b) 350 (c) 20 (d) 12

DIRECTIONS (Qs 91-92): [tems consist of two statements,
Statement I and Statement Il. Examine these two statements
carefully and select the correct answer using the code given below.

Code:

91.

92.

93.

94.

95.

96.

97.

98.

(a) Both the statements are individually true and Statement
II is the correct explanation of Statement I

(b) Both the statements are individually true but Statement
II is not the correct explanation of Statement I

(c) Statement I is true but Statement II is false

(d) Statement I is false but Statement II is true

Statement I:

The force on Moon due to Earth is the action, while the

force on Earth due to Moon is the reaction.

Statement II:

To every action, there is an equal and opposite reaction.

Statement I:

It is a common observation that if we place a glass of ice-

water on a table at room temperature, the ice-water will get

warmer.

Statement II:

Heat is energy that flows between a system and its environment

because of temperature difference between them.

Which one of the following materials is not diamagnetic at

Standard Temperature and Pressure (STP)?

(a) Nitrogen (b) Sodium chloride

(¢) Water (d) Iron

Which one of the following gases has the highest solubility

in water?

(a) Chlorine

(c) Carbon dioxide

Bleaching powder contains

(a) nitrogen (b) iodine (c) chlorine

What is the causal agent of Chikungunya?

(a) Non-chlorophyllous bacterium

(b) Nematode

(c) Virus

(d) Fungus

Bio-remediation is a technology which is being extensively

utilized in controlling

(a) global warming (b) melting of glaciers

(¢c) ozone depletion (d) heavy metal pollutions

Beauty of some historical monuments is greatly affected

by the growth of certain living organisms. These living

organisms belong to which one of the following groups?

(a) Amphibious plants (b) Lichens

(c) Bacteria (d) Viruses

(b) Ammonia
(d) Nitrogen

(d) bromine
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Which one of the following has the characteristics of both
an animal as well as a plant?

(a) Fern (b) Moss

(¢) Earthworm (d) Euglena

In order to save the stored food grains from insects, farmers
usually mix with them

(a) Neem leaves (b) Mango leaves

(c) Peepal leaves (d) Orange leaves
CD-ROM is a

(a) secondary memory (b) magnetic memory

(c) memory register (d) semiconductor memory
WAP stands for

(a) Wireless Addition Protocol

(b) Wireless Automation Protocol

(¢) Wireless Adaption Protocol

(d) Wireless Application Protocol

Bluetooth technology allows

(a) sending of files within the range of 10 km

(b) sending an e-mail

(c) wireless connection between various devices/equipments
over short distances

(d) downloading of movies from Internet

Which one among the following is not a basic function of

a computer?

(a) Accept and process data(b) Store data

(c) Scan text (d) Accept input

Which one of the following is hardware?

(a) Power point (b) Control unit

(c) Printer driver (d) Operating system

Two vehicles which are 100 km apart are running towards

each other in a straight line. In how much time will they

meet each other provided they follow a uniform speed of

45 km per hour and 80 km per hour respectively?

(a) 60 minutes (b) 55 minutes

(c) 48 minutes (d) 45 minutes

The price of an article is increased by 20%. Further, there is

a tax of 5% on the increment. If the article costs 31,331 to

the customer, then what was the price of the article before

the increase in price?

(a) %1,000 (b) 1,064 (c¢) 1,100 (d) Z1,200

A cricket bat is purchased at 20% discount. If the selling

price of the bat is ¥1,000. What was the original price of the

bat?

(a) %L1,100 (b) R1,200 (c¢) 1,225 (d) T1,250

Which one of the following diagrams is most appropriate to

the statement, “Tea-producing places are either in Assam or

in Bengal™?
(@ () ® [ D[]
@ [ D]

© [ b ]

Suppose, the remainder obtained while dividing x by 61 is
2. What is the remainder obtained while dividing x’ by 61?
(a) 2 (b) 4 () 5 (d) 6

What is the maximal number of spherical balls of radius 1
cm each that can be placed inside a cubical box of height
10 cm?

(a) 25 (b) 125

(c) 250 (d) 1000
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In a city, 80% population eat rice and 90% of the rice eaters
are non-vegetarians. Then what percent of the population
are vegetarian rice eaters?

(a) 7.2 (b)) 8 () 9 (d) 10

Two vehicles 4 and B travel with uniform speed 30 km per
hour and 60 km per hour respectively in the same direction.
They start at the same time and from the same place for
a distance of 120 km. The faster vehicle B reaches the
destination and travels back with the same speed. Assume
that the loss of time to change the direction is negligible.
If x is the distance travelled by the slower vehicle 4 before
the two vehicles cross each other, then x is

(a 70km (b) 75km (c) 80km (d) 90 km
The price of a bottle of cold drink is ¥10. One bottle of cold
drink can also be bought by returning 10 empty bottles. A
person has 1,000 and 19 empty bottles. Assuming that the
person can consume any number of bottles he buys, what
will be the number of empty bottles he possesses at the end
if he buys maximum number of bottles of cold drink and
consumes all?

(a 0 b 1 (c) 2 (d 3

Ifthe radius of the new spherical container is double the radius
of the old spherical container, then the ratio of the volume
of the new container and the volume of the old container is
(a 2:1 (b) 4:1 (c) 8:1 (d 2m:1
A container is filled with 300 litres of hydrogen gas. The
first day it loses 100 litres of hydrogen gas and everyday
it loses one-third of the volume it lost in the previous day.
Then the container

(a) loses entire hydrogen gas in 3 days

(b) loses entire hydrogen gas in 10 days

(c) loses 150 litres of hydrogen gas in 10 days

(d) possesses at least 150 litres of hydrogen gas on 100t day
The area of the smallest circle which contains a square of
area 4 cm? inside is

(@ mem? (b) 2mem? (¢) 3nem?  (d) 4mcem?
Consider the following figure:
Object Mirror (Plane)

Which one of the following is the image of the object in the

mirror?
®

@ [

@ T @

Three persons 4, B and C run a business together and their
shares are 17%, 37% and 46% respectively. Any profit they
earn is distributed according to the proportion of their shares.
If the difference of the profits of B and A4 on a given date is
%1,000. What is the profit of C on that day?

(a) 2,300 (b) 2,350 (c) 32,450 (d) 4,600
The circumference of a circle is 2 cm. Then the area of a
square inscribed in the circle is

(a) gcm2 (b) lem? (¢) 2mem?  (d) 2cm?
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Hints & Explanations

The word ‘fundamental’ means forming a necessary
base or core; of central importance; essential.

The words ‘hackneyed and clichéd means (of a phrase
or idea) having been overused; unoriginal and trite.
Hence, both the words are similar in meaning.

The word ‘immaculate’ means perfectly clean, neat, or tidy.
Hence, the word spotless is the right synonym.

The word ‘enmity’ means a state or feeling of active
opposition or hostility.

And the word ‘amity’ means friendly relations.
Hence, the words ‘enmity’ and ‘amity’ are antonym of
each other.

The word ‘reluctant’ means unwilling and hesitant;
disinclined.

Anxious means “worried or uneasy.” It’s often confused
with the word eager, which means “full of keen desire.”
To some, anxious has more of a negative connotation
than eager.

Hence, in the given sentence ‘eager’ is the most
appropriate word.

The word ‘queer’ means something or someone strange.
The word customary means established by or based on
custom rather than common law or statute. The word
‘nimble’ is used for showing slow movement.

Hence, the word customary is the most suitable antonym
of ‘queer’.

The correct sentence should be “as you know the ignorant
are easily duped.”

The word ‘argument’ should be replaced with ‘arguments’
Use of ‘from’ is not the correct usage in the (c) option.
The word créche is a nursery where babies and young
children are cared for during the working day.
Scullery-a small kitchen or room at the back of a house
used for washing dishes and other dirty household work.
Refectory-a room used for communal meals in an
educational or religious institution.

Dormitory-a large bedroom for a number of people in
a school or institution.

Impregnable-unable to be defeated or overcome.
Impeccable-in accordance with the highest standards;
faultless.

“Take a seat” is a polite invitation

Hence, won’t you? Is the correct question tag.

The sentence is beginning with an indefinite pronoun
(anyone), in this case subject ‘they’ is used in question
tag. Hence, the right answer is (can’t they?).

Fit out-to supply with necessaries or means

Bring out- to make apparent, to effectively develop
(something, such as a quality)

Cut out- something cut out or off from something else
Suit out- it is used for dressing /wearing

Hence, the phrasal verb ‘bring out’ is the most appropriate
usage.

The phrasal verb ‘crop up’ means to appear or happen,
usually unexpectedly.
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Come about-to ask how or when something happened
Come out-1a: to come into public view: make a public
appearance a new magazine has come out.

Rushed in- 1. To enter some place hurriedly or quickly:
I rushed in the house to pick up my wallet. 2. To cause
someone to enter some place in a hurry

Come about-to ask how or when something happened
Came across- to find something or meet someone by
chance

Came into- if you come into something, it becomes
yours when someone dies.

Came forward- come forward (with something) to bring
something, such as information, to someone’s attention.
Mohan came forward with a new idea. I hope you each
can come forward with something useful.

Finish up- If you finish up in a particular place or
situation, you are in that place or situation after doing
or experiencing several things. They had met by chance
at university and finished up getting married.

Clear up- (of an illness or other medical condition)
becomes cured.

Clean up- makes a substantial gain or profit.

Do away with- put an end to; remove.

Correct usage is ‘hand to mouth existence’

The idiom ‘cry over the spilt milk’ means useless worry/
no use of worrying about

The idiom/phrase “Yeoman’s service” means a great
work/an excellent work

The Evolution Of Provincial Finance In British India:
A Study In The Provincial Decentralization Of Imperial
Finance is a book written by Dr. B. R. Ambedkar.
During his official tenure as Viceroy of India , Lord
Curzon paid special attention to Persian Gulf. He
encouraged British-India trade with Persia. He started
the Quetta-Seistan trade route and appointed officials as
Resident to watch British interests in Persia. Through
these initiatives he wanted to establish a British sphere
of influence over the Persian Gulf and Seistan.

The Assam was first separated from Bengal in 1874.
On 6 February 1874 Assam, including Sylhet, was
separated from Bengal to form the Assam Chief-
Commissionership, also known as the ‘North-East
Frontier’. It was incorporated into the new province of
Eastern Bengal and Assam in 1905 and re-established
as a province in 1912.

Karshaka Sangams were the peasant associations in
Kerala. These associations especially in Malabar region
helped in growth of powerful peasant movement.
The congress decided to support Ethiopian people’s
struggle against attack by Italy and considered this
struggle to be freedom struggle and a part of all
exploited people’s struggle for freedom. The Congress
also declared to celebrate 9th May as Ethiopia Day to
support their freedom struggle.
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The Bharat Stree Mahamandal was set up by Saraladevi
Chaudhurani in Allahabad in 1910. This was the first
women’s organisation in India. The main goals of the
organization were towards empowering women and
promote female education.

In non-cooperation movement it was mainly peasants
and lower middle class that participated in very large
numbers.

Pakhtun- a Pashto-language monthly political journal
was started by Khan Abdul Ghaffar Khan in 1928.
Pandita Ramabai was the founder of Arya Mahila Samaj.
The samaj was founded for women empowerment
and to promote the cause of women’s education and
deliverance from the oppression of child marriage.
Surendranath Banerjee was the first Indian to go to
jail in performance of his duty as a journalist. He was
sentenced two months imprisonment for contempt of
court.

All the three options of discriminatory intervention,
no connection of Indian Businessmen with banks, and
deliberate ignoring of native investors were the reasons
for lack of economic development in India in the 19th
century.

Looking Back is the autobiography of Indian Social
reformer Maharshi Dhondo Keshav Karve.
Alexander Cunningham was the first Director-General
of Archaeological Survey of India. He founded the
Archaeological Survey of India (ASI) in 1861. ASI
is responsible for archaeological research and the
conservation and preservation of cultural monuments
in the country.

Ardhangi, Griha, and Sultana’s Dream-all contributed
by Social reformer, Pioneer of women’s liberation and
Bengali author Begum Rokeya. Mother India is written
by American historian Katherine Mayo.

Containing the brief biographies of the authors of
the chronicles was not the characteristics of Mughal
chronicles.

An Overseas Citizen of India (OCI) is not at par with
Non-Resident Indians (NRIs) in all matters. Like NRIs
have voting rights in India but OCI have not this right.
Only citizens of India are entitled for enrolment under
this Act-is not a feature of the Aadhaar Act.
Article-23 of the Indian Constitution deals with the
prohibition of traffic in human beings and forced labour.
The article provides one of the fundamental rights given
to Indian Citizens through the Constitution.

The Constituent Assembly set up a Committee to confer
with the Negotiating Committee of the Chamber of
Princes and with other representatives of Indian States
for the purpose of fixing the distribution of seats and
the method by which the representatives of the Princely
States should be returned to the Constituent Assembly
and hence the method of selection in the case of
representatives of Indian states was not determined by
the Governor-General of India.

The Election Commission of India, The Finance
Commission and the Official Languages Commission
—all three are constitutional bodies. These all constituted
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by the President of India in pursuance to the provisions
stated in the Indian Constitution The National
Commission for Women (NCW) is the statutory body
of the Government of India.

In monopolistic competition product in the market is
heterogeneous and not homogeneous.

Social cost is higher than the economic cost due to cost
borne by bystanders being positive.

Cess on coal at 100 per ton is a type of Carbon tax. A
carbon tax is a tax levied on the carbon content of fuels
and is a form of carbon pricing.

Core inflation is different from headline inflation because
the core inflation ignores articles of volatile nature in
the price index.

The book ‘Choice of techniques’ is written by Amartya
Kumar Sen. The book deals with the aspect related to
the theory of planned economic development .

All India Council for Technical Education (AICTE)
formulated the National Student Startup Policy. The
aim of this policy is to create 100,000 technology based
student start-ups and a million employment opportunities
within the next 10 years.

Professor B. N. Goldar was the Chairman of the
Working Group set up by the Government of India in
August 2014 to suggest the methodology for introducing
Producer Price Index (PPI) in India.

Under PESA Act,1996 the self governance of natural
resources is provided to Gram Sabha.

Iran is not a member of World Trade Organisation. The
World Trade Organization (WTO) deals with the global
rules of trade between nations.

A StandUp enterprise can be established in all three
sectors-manufacturing sector, service sector and trading
sector. The StandUp enterprise cannot be established
in the farming sector.

The Rajiv Gandhi Khel Ratna Award for 2016
conferred to PV Sindhu (Badminton), Deepa Karmakar
(Gymnastics), Jitu Rai (Shooting) and Sakshi Malik
(Wresting).

A scramjet engine is an improvement over the ramjet
engine as it efficiently operates at hypersonic speeds
and allows supersonic combustion. A dual mode ramjet
is a type of jet engine where a ramjet transforms into
scramjet over Mach 4-8 range and can efficiently operate
both in subsonic and supersonic combustor modes.
The Ministry of Human Resource Development and the
Department of Science and Technology have agreed to
partner in an initiative to set up startup support hubs
in the Indian Institutes of Information Technology
(IIITs), the Indian Institutes of Science Education and
Research (IISERs), the National Institutes of Technology
(NITs),and National Institutes of Pharmaceutical
Education and Research (NIPERs).

The Stand-Up India scheme facilitates bank loans
between 10 lakh and 100 lakhs to at least one Scheduled
Caste (SC) or Scheduled Tribe (ST) borrower and at
least one woman borrower per bank branch for setting
up a greenfield enterprise. This enterprise may be in
manufacturing, services or the trading sector.
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In case of gold, the revenue is recognised in the
accounting period in which gold is mined and not in
the period in which it is sold.

As per the traditional approach based on matching
concept, the expense to be matched with revenue is
based on the original cost.

Preliminary expenses are those expenses which are
incurred before the incorporation and commencement
of the business. These expenses are the examples of
deferred revenue expenditure.

Depreciation of fixed assets is an example of revenue
expenditure /expense. Some examples of depreciable
fixed assets are buildings, machinery, and office
equipment.

The Term IFRS stands for International Financial
Reporting Standards. International Financial Reporting
Standard set common rules with objective that
financial statements can be consistent, transparent and
comparable throughout the globe. /FRS are issued by
the International Accounting Standards Board.

For calculation of Sum Insurable

Turnover = 8800000

Agreed G P ratio= 20%

8800000 +20% =1,76,000

For increase of turnover by 10% clause-1, 76,000 X
10% =17600

Hence total Sum Insurable = 1, 76,000+ 17,600

=19, 36,000

Income and Expenditure account comes under nominal
account. A nominal account is an account in which
accounting transactions are stored for one fiscal year.
These accounts are related and associated to losses,
expenses, income or gains.

Legacies are amounts which a Not For Profit Organization
receives as per will of deceased person/s. It is shown
on the debit side of receipts and payments account. It
is capitalized being an item of non-recurring nature and
shown on the liabilities side of the Balance Sheet.
Consignment accounting refers to an arrangement
whereby goods are sent by the consignor to an agent
(consignee) who holds and sells the goods on behalf of
the owner for a commission. Abnormal loss is calculated
just like the unsold stock on consignment and credited
to consignment account.

When goods are purchased for the joint venture the
amount is debited to the joint venture account.

Since, Gross Profit=25% of Sales

Therefore, Cost Value =20, 00,000 X 100/125

=16, 00,000

Gross Profit = Sales - Cost Value

=20, 00,000-16, 00,000

=4, 00,000

A nominal account is an account in which accounting
transactions are stored for one fiscal year. These accounts
are related and associated to losses, expenses, income
or gains. Under debtor system of accounting a branch
account is opened for each branch in the head office
ledger. The Branch Account is prepared in such a way
that it discloses the profit or loss of the branch. Branch
Account is a nominal account in nature.
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A cost apportionment base is the basis used by a business
to apportion its overhead costs. The base used should
be appropriate for the overhead cost to ensure that the
cost is fairly apportioned between cost centres. In the
case of cost of electric power, it should be apportioned
over different departments according to horsepower
multiplied by machine hours.

The Schedule III to the Companies Act, 2013 provides
general instructions for preparation of the balance sheet
and the formats of financial statements of a company
In the absence of any provision in the partnership
agreement, profits and losses are shared by the partners
equally.

The concept of Workers’ Participation in Management
refers to participation of non- managerial employees
in the decision-making process of the organization.
The Works Committee, Safety Committee and
Canteen Management Committee are examples of this
participation.

One of the many aims and purposes of the ILO as
per Philadelphia Declaration states that, “war against
want requires to be carried on with unrelenting vigour
within each nation, and by continuous and concerted
international effort in which the representatives of
workers and employers, enjoying equal status with those
of governments, join with them in free discussion and
democratic decision with a view to the promotion of
the common welfare”.

Types of unionism identified by Robert Hoxie includes
business unionism, revolutionary unionism, friendly or
uplift unionism, predatory unionism. It does not include
evolutionary unionism.

The Trade Disputes Amendment Act provides for the
appointment of conciliation officers charged with the
duty of mediating in or promoting the settlement of trade
disputes. Besides extending the term “trade disputes” to
cover differences between the employers and employers
or between workmen and workmen.

Questions relating to the application or interpretation of a
standing order certified under the Industrial Employment
(Standing Orders) Act, 1946, may be referred to any
Labour Court constituted under the Industrial Disputes
Act, 1947 by any employer or workman or a trade union
or other representative body of the workmen.

A general union is a trade union whose membership
represents workers from all industries and companies
and not just from one organisation or a particular
industry or employment.

It is the Pluralistic perspectives of the industrial relation
that is based on the assumption that both the parties strive
(and have opportunity) to exercise economic (wages
and benefits) as well as political (control) power.
Under Article 43-A of the Constitution of India, the
State shall take steps, by suitable legislation or in any
other way, to secure the participation of workers in the
management of undertakings, establishments or other
organisations engaged in any industry.

Closed shop, Union shop and the Agency shop are
types of trade union security measures or agreements.
The open shop system is not the type of trade union
security measure or agreement.
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The Employees’ State Insurance Corporation is a
statutory machinery functioning at the Central level.
The Corporation was the result of the Employee State
Insurance Act-1948

‘Citizen Concept’ of labour is explained by the statement-
Labour has aright to be consulted in regard to the terms
and conditions under which they are supposed to work
Under the Minimum Wages Act, 1948 The Central
Advisory Board shall consist of persons to be nominated
by the Central Government representing employers and
employees in the scheduled employments who shall be
equal in number and independent persons not exceeding
one-third of its total number of members; one of such
independent persons shall be appointed the Chairman
of the Board by the Central Government.

Relief of the disabled and unemployable comes under
the state list (List-II) as per the seventh schedule of the
constitution of India

The Police theory of Labour is based on assumption
that human Being is so much selfish and always tries
for own benefits whether on the cost of others welfare.
Any of the employers will not work for the welfare of
employees until he is forced to do so.

Dr. Aykroyd’s formula is associated with the determination
of minimum wage. The formula named after the Wallace
Ruddell Aykroyd, nutritionist and first director of the
Department of Nutrition, FAO. The Aykroyd Formula
takes into account the inflation and the performance of
the employees while fixing the remuneration.

The statement given has been expressed in the Universal
Declaration of Human Rights. The Universal Declaration
of Human Rights is a milestone document in the history
of human rights and it was proclaimed by the United
Nations General Assembly in Paris on 10 December
1948.

Medical benefit as a non-cash benefit was provided first
time in India under the Employees’ State Insurance Act,
1948. The ESIC Act was enacted to provide for certain
benefits to employees in case of sickness, maternity and
‘employment injury’ and to make provision for certain
other matters in relation thereto.

Want, disease, ignorance, squalor and idleness
are Beveridge’s five contingencies. This set of
contingencies were identified by William Beveridge
in his comprehensive social security scheme.

The Atal Pension Yojana (APY') is focussed on all citizens
in the unorganized sector.The scheme is administered
by the Pension Fund Regulatory and Development
Authority (PFRDA) through NPS architecture. APY is
applicable to all citizen of India aged between 18-40
years. Under the APY, there is guaranteed minimum
monthly pension for the subscribers ranging between Rs.
1000 and Rs. 5000 per month. The benefit of minimum
pension would be guaranteed by the Government of
India. The Government of India will also co-contribute
50% of the subscriber’s contribution or Rs. 1000 per
annum, whichever is lower. Government co-contribution
is available for those who are not covered by any
Statutory Social Security Schemes and is not income
tax payer.

90. (d)
91. (a)
92. (a)
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97. (d)
98. (b)
99. (d)
100. (a)

For Rs.2 lakh risk coverage for accidental death and full
disability and Rs. 1 lakh for partial disability under the
Pradhan Mantri Suraksha Bima Yojana (PMSBY), the
premium amount is Rs. 12 per annum The Scheme is
available to people in the age group 18 to 70 years with
a bank account who give their consent to join product
on similar terms with necessary approvals and tie up
with banks for this purpose.

According to Newton’s third law of motion for every
action (force) in nature there is an equal and opposite
reaction. In this case if we consider the force on the
Moon due to Earth as action then the force on Earth
due to the Moon is reaction and both the action and
reaction will be equal.

Due to the temperature difference between heating
system and its surrounding environment/object the
heat energy flows from higher temperature to the lower
temperature until the two objects reach at the same
temperature. The same situation happens when a glass
of ice-water is placed on a table at room temperature,
then after some times the heat will flow from the
surrounding to the glass and will make it warmer as it
will also attain the room temperature.

Diamagnetic substances are repelled by the external
magnetic forces as these substances have tendency to
move from stronger to the weaker part of the external
magnetic field. At STP Nitrogen, sodium chloride and
water are Diamagnetic. Iron behaves like a ferromagnetic
substance and is attracted by an external magnetic field.
The solubility of ammonia gas in water is highest- that
is 52.3 gm of gas dissolved in 100 g of water at latm.
among chlorine (0.729), carbon dioxide (0.169) and
nitrogen (0.0019) gases.

Bleaching powder is chemically Calcium hypochlorite
with formula Ca(ClO),. It is commonly used as a
bleaching agent and used to disinfect drinking water
and for sanitization purposes.

Chikungunya is a viral disease transmitted by infected
mosquitoes. It causes fever and severe joint pain, muscle
pain, headache, nausea, fatigue and rashes over the
body.

Bioremediation is the process that utilizes microorgan-
isms, plants and related systems to detoxify contami-
nants like heavy metal pollutants in the soil and other
environments.

Lichens are symbiotic association of two separate
organisms, a fungus and an alga. These lichens form a
crusty, leaf like or branching growth on old buildings,
tress, walls, rocks etc. These lichens produce weak acids
which in the long run can damage buildings, rock etc.
Euglena have both the characteristics of animal and
plant as well. Euglena like animal is motile and moves
with the help of flagellum. It also possess Chlorophyll
the green pigment for photosynthesis like plant.
Neem leaves are widely used to repel the pest from
stored food grains and hence it is generally used by
farmers to save the stored food grains from insect pests.
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CD-ROM stands for Compact Disc-Read Only
Memory. It is used for storage of Secondary memory
or secondary storage. Other secondary storage devices
include magnetic disks magnetic tapes etc. Secondary
storage cannot be processed directly by the CPU as it
must first be copied into primary storage.
WAP or Wireless Application Protocol that allows
users to access information instantly through handheld
wireless devices. WAP supports most wireless networks
like CDMA, GSM etc.
Bluetooth technology is a short-range wireless
communications technology. It offers wireless access
to portable handheld devices, LANSs etc.
Basic function of the computer involves input of data
through input devices, data processing, storage of data
and the output of the information. Scanning of text is
not a basic function of the computer.
Power point, printer driver and different operating
systems are all types of softwares while control unit is
a type of hardware. Computer hardware is a collective
term used to describe the physical components of a
computer.
Two vehicles are moving towards each other
so, relative speed = (45 + 80) = 125 km/hr.
Distance between them = 100 km
Time when two vehicles meet
= % hr. = %X 60 = 48 minutes
Let the price of the article before the increment is ¥ x.
After increasing the price by 20%

. 20
New price = XX(I + 100) =1.2x
Increase in price = 1.2x —x = 0.2x.

Tax = 0.2x><i= 0.1x
100

Total cost = 1.2x + 0.01x

1331=1.21x
x= g:? 1100.

Let the marked price of the bat is ¥ x.
then, from question,

100—-20 ]0
X X =1000 = xx — =1000
100

100

x = 1000x100 _= 155
80

Assam and Bengal are two separate place who produces
total tea.

Assam —> (Q <1T—Bengal

\
Tea
Remainder obtained will be same.
Suppose x =4 and we divide x by 3.

111.(b)

112.(b)

113.(c)

4
then g = Remainder = 1

2
? = Remainder = 1

3
? = Remainder = 1

47

= Remainder = 1

In all cases remainder remains the same.
Hence, when x is divided by 61, remainder remains same.

i
2cm

S
< td

Scm

Radius of spherical ball » =1 cm;
Diameter of the ball 27 =2 cm.
Number of ball along a side = %: 5 balls

. Maximum Number of balls =5 x 5 x5 =125
Let population of the city is 100 thousands

. 80
Number of rice eater = 100><m = 80 thousands.

Number of rice eater population, who are vegetarian

100-90
= 80><( ) = 8 thousands

100

8
Required percent = EXIOO =8%

A — 30 km/hr
B — 60 km/hr

P 120 km Q

Let the distance between two places P and Q is 120 km.
From question,

Speed of vehicle A =30 km/hr

Speed of vehicle B = 60 km/hr.

Time taken by vehicle B to travel 120 km

:@=2hr.

60
Distance travel by vehicle A in 2 hr =30 x 2 =60 km.
Now the Distance between two vehicles after 2 hours
=120 — 60 = 60 km.
As two vehicles meet at distance x from, place P.

then, x—60:120—x
30 60
2(x-60)=120—x = 2x+x=120+120
240
X =

Z— =80km
3
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114.(c)

115.(c)

116. (d)

Number of bottles he bought in ¥ 1000

1000

~ g 100

Number of bottles he bought from returning 100

100
empty bottle = T0 " 10

Number of empty bottle initally = 19

Number of empty bottle remains

after returning 19 + 1 =20 empty bottle=10—-1=9
Number of empty bottle again he get

from new bottle=9 +2 =11

At last he return 10 empty bottle and consume one
new bottle.

So, Total number of empty bottle remains=1+1=2
Ratio of volume of two spherical container of radius
ryand r,

(Vz)3
“ (1]

Here )

=randr,=2r
3
. Required ratio = @ =8:1

r
Container lost in first day = 100 litres.

. . ond 100
Container lost in 2"¢ day = EN litres.

Container lost in 3™ day = 5 litres.

100
Container lost in 41 day = 3—4 litres.

100" day = 100
3
100 100 100
Total lost in 100 day = 100+T+ " ....3@
1+1+ ! +.. !

22 299 1
_ 100l 332 3P 150[1—1_00}

-1 3

3 1

Gas posses on the 100th day =300 — 150 +150 x 3100

1
=150 [HW] >150

117. (b)

118. (a)
119. (a)

120.(d)

D C

A B

Let ABCD is a square inside the circle and area of
square = 4 cm?
Side of the square = V4 =2cm

Diagonal of the Square (AC) = {/(2)% +(2)? = 242 em
Here diameter of the circle = Diagonal of the square

= 2.2

Radius of the Circle =

22

2
Area of the circle = 1 x (\/5) =271 cm?

Let total investment by A, B and C are % x.
then, Profit & share of A=0.17x
Profit & share of B =0.37x
Profit & share of C = 0.46x
Difference in profit = 1000
0.37x —0.17x = 1000

0.2x = 1000

x=35000
Profit of C=0.46 x 5000 =32300
A B
D C

Circumference of the circle =  x diameter
21 =1t X diameter

) 21
.. Diameter= — =2
T

Now, Diameter of circle = Diagonal of square =2

V2 x Side =2 = Side = —— \/_ =2 cm

2
Area of the square = (Side)? = (\/E ) =2 cm?

EBD 8100



( Unit: A - General Mental Ability )

CHAPTER

The meaning of analogy is ‘similar properties’ or similarity. If
an object or word or digit or activity shows any similarity with
another object or word or digit or activity in terms of properties,
type, shape, size, trait etc., then the particular similarity will be
called analogy. For example, cricket : ground and chess: table are
the analogous pairs (why?). In fact, both pairs of words have
similar relationship in terms of place of playing as cricket is
played in the ground and similarly chess is played on the table. In
this chapter, we will discuss different types of analogy because
problems based on analogy are an important category of questions
to be asked in almost all examinations of competitive level.

TYPES OF ANALOGY

There are three types of analogy
(1) Based on Words

(2) Based on Numbers

(3) Based on Letters

1. Based on Words

I. Tool & Object Based Analogy

This establishes a relationship between a tool and the
object in which it works.

Examples:
Scissors Cloth
Saw Wood

II. Synonym Based Analogy
In such type of analogy two words have similar meaning.

Examples:
Huge Gigantic
Benevolent Kind

III. Worker & Tool Based Analogy

This establishes a relationship between a particular tool and
the person of that particular profession who uses that tool.

Examples:
Writer Pen
Barber Scissors

IV. Worker & Product Based Analogy

This type of analogy gives a relationship between a person
of particular profession and his/her creations.

Examples:
Writer Book
Singer Song

ANALOGY

V. Causes & Effect Based Analogy
In such type of analogy 15t word acts and the 2" word is
the effect of that action.

Examples:
Work Tiredness
Race Fatigue

VI. Opposite Relationship (Antonym) Based Analogy
In such type of analogy the two words of the question pair
are opposite in meaning.

Examples:

Poor Rich

Tall Short
VII. Gender Based Analogy

In such type of analogy, one word is masculine and another
word is feminine of it. In fact, it is a “‘male and female’ or
‘gender’ relationship.

Examples:
Man ‘Woman
Bull Cow

VIII. Classification Based Analogy
This type of analogy is based on biological, physical,
chemical or any other classification. In such problems the
15t word may be classified by the 279 word and vice-versa.

Examples:

Oxygen Gas
Water Liquid
Snake Reptile
Parrot Bird

IX. Function Based Analogy

In such type of analogy, 2nd word describes the function
of the 15! word.

Examples:
Singer Sings
Player Plays

X. Quantity and Unit Based Analogy
In such type of analogy 24 word is the unit of the first
word and vice-versa.

Examples:
Distance Mile
Mass Kilogram



XI.

XII.

XV.

XVI.

Finished Product & Raw Material Based Analogy

In such type of analogy the 15! word is the raw material
and 2" word is the end product of that raw material and
vice-versa.

Examples:

Milk Curd
Flour Bread
Fruit Juice
Utility Based Analogy

In such type of analogy the 2" word shows the purpose of
the 15t word or vice-versa.

Examples:
Pen Writing
Bed Sleeping

Symbolic Relationship Based Analogy
In such type of analogy, the 15t word is the symbol of the
27 word and vice-versa.

Examples:
White Peace
Red Danger

. Adult & Young One Based Analogy

In such type of analogy, the 15 word is the adult one and
27 word is the young one of the 15t word or vice-versa.

Examples:
Cow Calf
Human Child

Subject & Specialist Based Analogy
In such type of analogy the 2" word is the specialist of 1t
word (subject) or vice-versa.

Examples:

Heart Cardiologist
Skin Dermatologist
Habit Based Analogy

In this type of analogy 2" word is the habit of 15 and
vice-versa.

Examples:

Cat Omnivorous
Tiger Carnivorous
Cow Herbivorous

XVILI. Instrument and Measurement Based Analogy

We see in this type of analogy, the 15! word is the instrument
to measure the 2" word and vice-versa:

Examples:
Hygrometer Humidity
Barometer Pressure

XVIILI. Individual & Group Based Analogy

XIX.

Second word is the group of 15t word (or vice-versa) in

such type of analogy.
Examples:

Cow Herd
Sheep Flack
Grapes Bunch
Singer : Chorus

State & Capital Based Analogy
15t word is the state and 2"d word is the capital of that state
(15t word) (or vice-versa) in the analogy like this.

Analogy
Examples:
Bihar Patna
West Bengal Kolkata

XX. Analogy Based on Individual & Dwelling Place

XXI.

In such type of analogy 15t word is the individual & 2nd
word is the dwelling place of that individual (15 word)
and vice-versa.

Examples:

Horse Stable

Bee Apiary

Analogy Based on Worker and Working Place

In this type of analogy the 15! word represents a person of
particular profession and 2" word represents the working
place of that person (15! word) and vice-versa.

Examples :

Doctor Hospital
Clerk Office
Cook Kitchen
Professor College

XXII. Country and Capital Relationship

When one word of the pair gives the capital of the country
given in other word of the pair, then it is called country
and capital relationship.

Example :

Egypt Cairo

XXIII. Country and Currency Relationship

When one word of the pair gives the currency of the
country given in other word of the pair, then it is called
country and currency relationship.

Example :

Japan Yen

XXIV. Country and Continent Relationship

When one word of the pair represents a continent and the other
word gives the name of a country which is a part of the given
continent, then it is called country and continent relationship.
Example :

Canada North America

XXYV. Country and Newspaper Relationship

When one word of the pair gives the name of the newspaper
of the country given in the other word of the pair, then it is
called country and newspaper relationship.

Example :

India Times of India

XXVI. Country and National Game Relationship

When one word of the pair gives the name of the national
game of the country given in the other word of the pair,
then it is called country and national game relationship.
Example :

USA Baseball

XXVII. Country and Intelligence Agency Relationship

When one word of the pair gives the name of the intelligence
agency of the country given in other word of the pair, then
it is called country and intelligence agency relationship.
Example :

Russia KGB
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XXVIII. Persons and Specialised field Relationship
When two words of the pair give the name of the person
and the field with which that person associated, then it is
called person and specialised field relationship.
Example :
Anil Ambani Business
XXIX. Famous Personalities and Country Relationship
When one word of the pair gives one name of a famous
personality associated with the country given in the other
word of the pair, then it is called famous personality and
country relationship.
Examples :
Chetan Bhagat India
XXX. Awards and Field Relationship
When one word of the pair gives the name of the award
associated with the field given in other word of the pair,
then it is called award and field relationship.
Example :
Global Award Environment
XXXI. Sports and Players Relationship
When one word of the pair gives the name of the player
associated with the sport given in other word of the pair,
then it is called sport player relationship.
Example :
Badminton Sonia Nehwal
XXXII. Sports and Cups/Trophies Relationship
When one word of the pair gives the name of the cup/trophy
associated with the sport given in the other word of the pair,
then it is called sports and cup/trophies relationship.
Example :
Hockey
Type II: Double Analogy
In the following example, there is some relationship between the
two words to the left of the sign (::) and the same relationship
obtains between the two words to the right of the sign (::). The
correct combination is given as one of the four alternatives (a),
(b), (c) and (d). Find the correct combination.
1. Owl : Screech :: ?: ?
(a) Donkey : Neigh (b) Hoof : Pony
(c) Ride: Wagon (d) Saddle : Relay
Sol. (a) Clearly, Owl's sound is called Screech. Similarly,
Donkey's sound is called Neigh.

Dhyan Chand Trophy

Type III: Triple Analogy

In the following example, there is some relationship between the
three words to the left of the sign (::) and the same relationship
obtains between the three words to the right of the sign (::). The
correct combination is given as one of the four alternatives (a),
(b), (c) and (d). Find the correct combination.

Example /
(a) Home : Hut : Palace
(c) Car: Bike : Gear
Sol. (¢) Both 'Cat' and 'Dog' have 'tail' and following the
similar relationship, option (c) is correct as 'Car' and 'Bike' both
have 'Gear'.

(b) Lion : Tiger : Fish
(d) Horse : Cow : Horn

2. Based on Number

Number Analogy is a crucial step in solving questions on
reasoning ability. The reasoning ability is checked mainly by
the questions related to Number Analogy. The candidates are
asked to identify and point out relationships, similarities or
differences, and dissimilarities in a series or between groups of
numbers.

3.1:226:15::325:?

(a) 19 (b) 18 (c) 17 (d) 16
Sol. (b) (15)2+1:15::(18)2+1:18

B> 4.2:11:1210::?:?

(@) 6:216 (b) 7:1029 (c) 8:448  (d) 9:729

Sol. (¢) Clearly, the relationship is (Cube of x -Square of x).
(8)° —(8)2=512—64 =448

5. Given set: (181, 177,169) :: ?

(b) (164,161, 153)

(d) (192,188,179)

Example /
(a) (156,152, 144)
() (175,171, 160)
Sol. (a) Here 1st number — 4 = 2nd Number
2nd Number — 8 = 3rd Number.

156 —4=152-8=144

3. Based on Letter

In this type of analogy, two groups of letters related to each other
in same way, are given. The candidate is required to identify the
relationship & choose a group of letters which is related in the
same way to a 3rd group given in the question. These questions
become easier to solve if you memorize the alphabetic positions
of the letters in the alphabet. (eg: A=1, M=13, etc.)

6. BCDE: PQRS :: WXYZ:?

(a) EFGH (b) KLMN (c¢) QISP (d) TSUV

Sol. (b) Each letter of the 1st group is moved 14 steps forward
to obtain the corresponding letter of the 2nd group. A similar
relationship will exist between the 3rd and 4th groups.

Mixed Analogy:
In these types of analogy alphabet and number are mixed in the
question as shown below:

7.1: KxP:256:: HxS:?
(b) 372 (c) 428

Example /
(a) 361
Sol. (a) As, K's place value from end side in alphabet is 16
P's place value from starting is 16
By multiplying both its 256
Similarly,

H's place value from end side is 19

(d) 244

S's place value from starting is 19

By multiplying both its 361
8.ACT:60::PAI:?
(b) 144 (c) 100

Example /
(a 90
Sol. (b) 60 is the product of place values of A, C and T.
Similarly, the product of the place values of P, A and I is 144.

d 75



m Analogy
EXERCISE

. . .9
DIRECTIONS (Qs. 1-70): In each of the following questions, 16. 841 :29::289:7

: . (a) 23 (b) 21

select the related letter/word/number from the given alternative. © 17 @ 13
1. Muslims : Mosque :: Sikhs : ? 17. 8:28::27:7?

(a) Golden Temple (b) Madina (a) 85 (b) 28

(c) Fire Temple (d) Gurudwara (c) 8 (d) o4
2. Traveller : Journey :: Sailor : ? 18. 72:18:56:7

(a) Water (b) Ship (a) 63 (b) 66

(c) Voyage (d) Crew (c) 22 (d) 124
3. Perch : Fresh water :: Salt water : ? 19. 5.5:30.25::11.0:?

(a) Crocodile (b) Frog (a) 22.0 (b) 30

(¢) Cod (d) Snake (c) 55 (d) 121.00
4. Ornithologist : Birds :: Anthropologist : ? 20. 10:99::09:?

(a) Plants (b) Animals (a) 49 (b) 80

(¢) Mankind (d) Environment (¢) 69 d 79
5. Venerate : Worship :: Extol : ? 21. 25:37::49:7?

(a) Glorify (b) Homage (a) 41 (b) 56

(¢) Compliment (d) Recommend (¢) 60 (d) 65
6. Teheran : Iran :: Beijing : ? 22. 763 :856::637:7?

(a) China (b) Japan (a) 866 (b) 730

(c) Turkey (d) Malaysia (¢c) 737 (d) 637
7. Dark : Fear :: Honesty : ? 23. 3:243::5:?

(a) Personality (b) Money (a) 425 (b) 465

(c) Treachery (d) Trust (c) 546 (d) 3125
8. Tanning : Leather :: Pyrotechnics : ? 24, 6:222::7:7?

(a) Wool (b) Fireworks (a) 210 (b) 465

(c) Bombs (d) Machinery (¢) 350 (d) 3125
9. Butter : Milk :: Book : ? 25. 7584 :5362 ::4673 :?

(a) Author (b) Printing (a) 2451 (b) 3562

(c) Chapter (d) Paper (c) 5487 (d) 5784
10. Mattock : Dig :: Shovel : ? 26. QDXM : SFYN :: UIOZ:?

(a) Break (b) Push (a) WKPA (b) QNLA

(¢) Scoop (d) Squese (c) LPWA (d) PAQM
11. Foresight : Anticipation :: Insomnia : ? 27. ASTN:ZTSO :: MSUB:?

(a) Treatment (b) Disease (a) LRRC (b) LTTA

(c) Sleeplesness (d) Unrest (¢) NTVC (d) LTTC
12. Cricket : Bat :: Hockey : ? 28. FILM : ADGH :: MILK : ?

(a) Field (b) Stick (a) ADGF (b) HGDE

(c) Player (d) Ball (c) HDGF (d) HEGF
13. Energy : Joule :: Volume : ? 29. MAD :JXA::RUN:?

(a) Solid (b) Capacity (a) ORK (b) 0SQ

(¢) Kilogram (d) Litre (¢) PRJ (d) UXQ
14. Fire : Ashes :: Explosion : ? 30. Dda:aDD :Rib:?

(a) Flame (b) Death (a) BBr (b) bRR

(c) Sound (d) Debris (c) RRR (d) BrR
15. Man : Biography :: Nation : ? 31. MUMBAI : LTLAZH :: DELHI : ?

(a) Leader (b) P eople (a) CDKGG (b) DNRWJ

(c) Geography (d) History (c) CDKGH (d) OPEN
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32. CLOSE : DNRWIJ:: OPEN:? 51. 365:90::623:?
(a) PRHR (b) PRIQ (@) 36 (b) 45
(c) RPJB (d) RZWR (c) 123 (d) 63
33. DOG:Z:: CAT:? 52, 2,4,2,:4,16,4:1,1,1:?
(@ X b Y (a) 2,4,2 by 1,1,1
© Vv d W ) 2,2,2 (d) 2,13,2
3. LxM:12x13:UxW:?
53. 1,2,4,7,:3,4,6,9,::7:2,3,5,8
(a) 21x22 (b) 24 x26 ’ ’0’1’3’6” ’ ’,b’2458
& 5 IEHE: @ 0,126 B 2,458
C 2 b b 2 2 >
. 9.
3. (Cal):ILYQSI-(I:D HWXYZ (b) DCBA 54. XXIV :48 :: XIV :?
36. CEDH : HDEC : 2 : PNRV S5. 4845:45%:: 596417
(a) VRNP (b) RNPV (@ 597 (b)) 94 (o) 967 (d) 542
(¢) NRVP (d) VNRP 56. 2.25:13/4::3.75:?
37. 60.1JL: MNP :: ?: UVX (@ 17/4  (b) 194  (c) 15/4 (d) 11/4
(@ RSU  (b) QRT (c) KLN (d) GHI 57. 9143 :9963 :: 6731 : 2
38. MASTER : OCUVGT :: LABOUR : ? (a) 1368 (b) 5666  (c) 8964 (d) 9694
(a) NCDQWT (b) HDERWT 58. 534:2:7:?
(c) NBECRWT (d) NEDRWT () 102:9 (b) 553:6 (c) 884:2 (d) 999:2
39. Salt: Hypertension :: Sugar : ? 59. 49169 - 66 - ?
(a) Cholesterol (b) Diabetes : ) 12 6” ’ b 132 144 q 162
(c) Sweet (d) Dehydration @) (b) © ()
40. Confirmed : Inveterate :: Financial : ? 60. 562:30::663:7
(a) Callow (b) Incredible (a) 44 (b) 49 (c) 54 (d) 58
(¢) Bankrupt (d) Knot 61. DxH:4x8,asMxQ:?
41. FATIGUE : REST :: DEHYDRATE : ? (a) 14x18 (b) 12x17
(a) WEIGHT (b) HEAT () 12x16 (d 13x17
(c) WATER (d) LIGHT 62. IF PNLJ : 2468, then QOKL: ?
42. Mitochondria : Energy :: DNA : ? (a) 3591 (b) 1367
Ea; inheritar#:e Eg; f{eprod}:ction (c) 1276 (d) 1376
¢) Locomotion mmunity
. . .9
43. Chisel : Sculptor :: Harrow : ? 63. AKP: 1121256 :: LNO -
(a) 196125144 (b) 144196225
(a) Gardener (b) Mason
(© Blacksmith (d) farmer (c) 144225196 (d) 41521196
44. Soil : Erosion :: Forest : ? 64. YONEX : DUUMG :: JASPO : ?
(a) Pollution (b) Degradation (a) OGZXY (b) OXXZF
(¢) Dense (d) Deforestation (c) OZTYY (d) OZXXG
45. Red Blood Cells : Erythrocytes :: White Blood Cells : ? 65. BEH :KNQ: FIL:?
(a) Thrombocytes (b) Lymphocytes (a) ONM (b) NLJ
(c) Monocytes (d) Leucocytes (c) ORU (d) OMK
46. Qualm : Nausea :: Burn : ? 66. HIJ: OPQ::STU:?
(a) Fresh (b) Sear (a) BCD (b) ZAB
(c) Sensible (d) Wet (c) XYZ (d) CBA
47. International Literacy Day : September 8 :: International 67. MTBO : KRZM :: RIMD : ?
Women’s Day : ? (a) PHKB (b) PHKA
(a) Marph 8 (b) June 26 (c) HPKA (d) PHBK
(c)  April 22 (d) November 4 68. PRAY : SNEV :: ?: 2
48. Bihu : Assam :: Onam : 2. (a) GREY :JPIU (b) PONG : SPIB
(2) Karnataka , (b) Kerala (¢) SAGE:VWKB (d) LIST:ILVQ
(¢) Jammu & Kashmir (d) Rajasthan 69. PAN : TDM =2 : 2
49. Eye : Ophthalmologist :: Music : ? (a) GIL:KMG (b) HOT:KLG
(a) Player (b) Conductor () MAN:PAM (d) SIP:WLO
(c) Pianist (&) Composer 70. MUSCLE : SUMLEC :: OUT-PUT
o e At - 0 . : = - :
50. Fae;stlc\:;vc(l)elzl h((ijrop . Antiseptic (b) Clothing () TOUTUP (b) UTOPUT
(c) Bandage (d) Bleeding (¢) PUTOUT (d) TUOUTP
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(@)
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(a)
(d)
(b)

(@)
(©

(©)
(b)

(d)
(@)

(@)

(©

()

(©

(@)

(b)

(@)

(b)
(@

(©)
()

()

Second is the place of worship for the first.

Second is processed was done by first

A perch is a fresh water fish, cod is salt water fish.
Study of birds ornithologist. Study of mankind
Anthropologist.

Synonym of each other

Country and capital based

First lead to the second.

Tanning is a process of manufacturing leather.
Pyrotechnics is a process of fireworks

Second is used to prepare the first.

Mattock is a tool to dig hard ground similarly, shovel
is a tool to scoop

Synonym of each other.

Stick

In cricket ball is hit with bat same in hockey ball is hit
with stick

Joule is the unit of energy, Litre is the unit of volume.
Debris

Remain of fire is called Ashes, Remain of explosion is
called Debris.

History

The story of man Biography, The story of Nation
History

V841 =29, /289 =17
8x3+4=28
27x3+4=85
(7+2)x2=18
(5+6)x2=22
(5.5)2=130.25

(11.0)%= 121.00
(10)2-1=99
(09)2—1=280

52=25

72=49

62+ 1=37

82+1=65

763 + 93 = 856

637 +93 =730
35=243

(5)°=3125
63+6=222,7+7=350
7584 — 2222 = 5362
4673 — 2222 = 2451

QDXM:= UIOZ
+2l+2l+1l+1l +2] 42| +1 +1l
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+2l +2l +zl +2l+2 +2|  +2[+2l+2| +2 +zl +2
OCUVGT NCDOQWT
The excess intake of salt causes hypertension.
Similarly, high sugar in blood causes diabetes.
Confirmed and inveterate are related terms. Similarly.
Financial and Bankrupt are related terms.
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Analogy

41. (c¢) We take rest in the state of fatigue (the condition of

42.

43.

44.
45.
46.
47.

48.

49.

50.

51.

52.

53.

54.

()

()

(d)
()
(b)
()

(b)
(@

(@)

(@)

(b)

()

()

being very tired).

Similarly, we drink water in the state of dehydration
(the loss of water).

Mitochondria is referred to as the powerhouse of
the cell in which respiration of the cell in which
respiration and energy production occur. DNA is the
unit of inheritance.

Here Tool-Worker relationship has been shown.
Chisel is the tool of Sculptor. Similarly, Harrow is the
tool of Gardener.

Erosion destroys soil by means of rain, wind, streams
etc. Similarly, deforestation refers to the loss of forest.
Red Blood Cells are also called Erythrocytes.
Similarly, White Blood Cells are called Leucocytes.
Qualm cause nausea. Similarly, burn causes sear.
International Literacy Day is celebrated on September
8 every year. Similarly, International Women’s Day is
celebrated on March 8.

Bihu is celebrated in Assam. Similarly, Onam is
celebrated in Kerala.

Opthalmologist is a person who is specialised in eye
and its diseases. Similarly, composer is a person who
composes music.

Pesticides protect crops from insects and antiseptics
protect wound from germs.

3x6x5=90
Similarly,
6x2x%x3=36
24 2 —416 4
? \ wz? T \
o4
2
Similarly,

111 —2 4 2
? \ wz? T \
o4
002
1 24 7—3 4 6 9

y A u+2¢
+2
+2
+2
Similarly,
01 3 6—2 3 5 8
? A A u+2¢
+2
+2
+2

XXIV x 2 =24 x2=48
Similarly,
XIVx2=14%x2=28

5s.

56.

57.

58.

59.

60.

61.

62.

63.

(d) 4845
4 5= (452
5 9 6 4
\’ \2
5 4 = (54)
(b) 225+1=13/4
3.75+1=19/4
() As,
9143=9+1+4+3=17
9963=9+9+6+3=27
6731=6+7+3+1=17
Similarly,
8964=8+9+6+4=27
@ 534 : 2 = 2?2 = ?
=S =
5+3)+4=2:: 999 : 2
= =
(9+9)+9=2
(¢) 49 169 i 66 : ?
U U U U
4+9)2= 169 (6+6)2 = 144
(© (5x6x2)+2=30
Similarly
(6% 6x3)+2=54
@D x H
4 x 8
Similarly,
M x Q
\’ 2
13 x 17
@ P=2
N=4
L=6
I=38
P 5Q0=0Q=2-1=1
N—50=0=4-1=3
J—5K=K=8-1=7
L =6 (It is given)
(b) As,
T II li 1121256
12112 162
Similarly,
L N O 144196225

iy

122 142 152



64. (a)

65. (c)

66. (b)

67. (a)

As,
Y O N E X
+5l +6l +7 +8l +9l
D U U M G
Similarly

HIJ :OPQ :2:STU:ZAB
L] |+7 1 L] |+7 11
+7 +7
+7 +7

As,

M T B O
—2l 2| 2| =2

K R Z M
Similarly,

R J ™M D

68. ()

69. (d)

70. (d)

Analogy
P R A Y
+3l —4l +4| -3
S N E V
Similarly
S A G E
+3l Al +4| -3
V W K B
P A N = S 1 P
+4| 43 -1 +4l +3l —1l
T D M W L O
MUSCLE : SUMLEC :: OUTPUT :
As,
S U M L E C
T U O Uu T P
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CHAPTER

CLASSIFICATION

When we come to solve the reasoning part while preparing for
any competitive examination of objective nature. We find that
the problems based on classification are the very important
segment. You can see such questions in every question paper and
this is the reason why examinees are advised to be well aware
of classification part of reasoning. In this chapter, efforts have
been made to make, examinees of various objective competitive
examinations, fully aware of reasoning based on classification.

WHAT IS CLASSIFICATION?

You must have in your mind that what does classification mean.
In fact, in classification we take out an element out of some
given elements and the element to be taken out is different from
the rest of the elements in terms of common properties, shapes,
sizes, types, nature, colours, traits etc. In this way the rest of
the elements form a group and the element that has been taken
out is not the member of that group as this single element does
not possesses the common quality to be possessed by rest of the
elements. For example, if we compare the elements like, lion,
cow, tiger, panther, bear and wolf then we find that this is a
group of animals. How do we classify them? To understand this
let us see the presentation given below :-

Lion Cow Tiger  Panther  Bear Wolf
Wild  Domestic  Wild Wild Wild Wild
animal animal animal animal animal animal

Here, if we want to separate out one animal then definitely that
animal will be cow because cow is the only animal in the group
which is a domestic animal. Rest of the animals (Lion, Tiger,
Panther, Bear and Wolf) are wild animals. Hence rest of the
animals (Lion, Tiger, Panther, Bear & Wolf) form a group of
wild animals separating out the domestic animal (Cow).
Similarly, out of 6 letters A, M, N, F, P & Q, we will take out
A and form a group of 5 letters M, N, F, P & Q because out of
given six letters only A is a vowel while rest of the letters form
a group of consonants.

Types of Classification
(1) Letter/meaningless word based classification
(2) Meaningful word based classification

(3) Digit based classification
(4) General knowledge based classification

GLASSIFICATION

Now we will discuss these four types of classifications one by
one:-

1. Letter/meaningless word based classification

Such classifications are based on letters of English alphabet. So
many groups of letters are given in the question in which one
group is different from remaining groups and hence the different
group will be our answer.

SN\ [:378 1. Find the odd word out of the following options.
(a) PQT (b) UVY
(c) DEH (d) LN

SoL.@d @ P Q@® 9 TH) U V@ Y

2 letters gap 2 letters gap

(¢ D E Hd 1 J N

2 letters gap 3 letters gap

As it is clear that except option (d) all the other options have 2
letters gap between 2nd and third letters and the 1st two letters
are in consecutive order. While in case of option (d) Ist two
letters are in consecutive order but there is 3 letters gap between
2nd and third letter separating it out of the remaining group of
the letters. Hence option (d) is the correct option.

Example /

options?
(a) JoPHaNPcS
(¢) GuWaWRiV

Sol. (¢)

2. Find the odd word out of the following

(b) LeZoKMnU

(d) SFaXPiMGs

As it is clear that except option (¢) all other groups
contain two small vowel letters.

Hence, option (¢) is the correct option.

SN 3. Select the one which is different from the
other three responses.
(a) HISW (b) C8L
() G17Y (d) B17T

Sol. (a) As it is clear that except option (a) all other groups,
the number denotes the number of letters between the
two given letters in the English alphabet.

Hence, option (a) is the correct option.
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Classification

2. Meaningful words based classification
In such type of classification we have to take odd word out of
the given group of meaningful words.

Example
certain thing common and so they form a group. Find out
the word which one is not a part of that group.

4. Out of the 4 words given below, three have

(a) Slim (b) Trims
(¢) Greets (d) Grid

Sol. Option (c) is the correct option because this is the only
option which has two vowels while the other options have
only one vowel. Let us see the following presentation:-

(a) Sl(?m (b) Tr(?ms(c) Grts (d) Gr@d

1 vowel 1 vowel 2 vowels 1 vowel

5. Select the one which is different from the

Example /
other three responses.

(a) Mason : Wall
(¢) Farmer : Crop

(b) Cobbler : Shoe
(d) Chef: Cook

As it is clear that except option (d) all other pairs,
second is prepared by the first.
Hence, option (d) is the correct option.

Sol. (d)

3. Digit based classification

In such type of classifications digits or numbers are given to
find out one number that is not a part of the group of remaining
numbers.

6. Find the odd number out.
(b) 128 (¢) 199

(a) 122
Sol. Option (c) is the correct option because this is an odd
number while all the other options are even numbers.

(d) 200

Example /
similarity and hence they form a group. Find out the number
which does not suit in the group.

7. Four of the following numbers have some

(a) 7842 (b) 7562 () 7122 (d) 8952
Sol. Option (d) is the correct answer, as except option (d) all
other options start with 7 & end with 2.

8. Select the one which is different from the

Example /
other three responses.

(a) 140-45 (b) 110-35
(¢) 100-30 (d) 80-25
Sol. (¢) The pattern seen here is (first number — 5) + 3 = Second
number.

Like (140 -45) = (140—5)+3=45But(100-30)
= (100-5)+3==30
4. General knowledge based classification

Such classification is done on the basis of our general knowledge.
No doubts that this is a word based classification but without
having general knowledge this type of questions can not be
solved.

9. Find the odd man out.

(a) Patna (b) Mumbai
(¢) Kolkata (d) Madhya Pradesh

Sol. Option (d) is the correct answer because Madhya Pradesh
is an Indian state while all other options are capitals of
Indian states. Patna is the capital of Bihar; Mumbai is the
capital of Maharashtra and Kolkata is the capital of West
Bengal. In case of Madhya Pradesh (it is an Indian state),
we can say that it has its capital in Bhopal.

10. Which of the following animals does not fit
into the group formed by remaining four animals?

(a) Cat (b) Dog
(¢) Tiger (d) Octopus
Sol. Option (d) is the correct option as this is the only animal

out of given options which is a water animal. Rest of the
options are land animals.

Example /°

Now, this chapter has come to an end. Readers are advised to
move as per the following steps while solving the problems
related to classification :-
Step I : See all the given options with a serious eye.
Step I : Try to make relation of similarity among the
given options.
Step III : Find out the one word not having the common
similarity like other four options and that one
word will be your answer.
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EXERCISE

DIRECTIONS (Qs. 1-20): In each of the following questions, 20. (a) Iléloslest : Chte.atTh i (z) S(;?id : Nl((;?ft
four words have been given, out of which three are alike in some (¢) Extravagant: Thrifty (d) Seldom : Often
manner and the fourth one is different. Choose out the odd one. ~ DIRECTIONS (Qs. 21-40): Select the odd word from the given

alternatives.
1. (a) Medium (b) Average
(¢) Mediocre (d) Terrible 21. (a) Sports — Ground (b) Cinema — Screen
2. (a) Mushroom (b) Yeast (¢) Drama — Stage (d) Rubber — Erase
(c) Mould (d) Smut 22. (a) Perception (b) Discernment
3. (a) Correction (b) Improvement (c) Penetration (d) Insinuation
(c) Betterment (d) Elevation 23. (a) Gallon (b) Ton
4. (a) Crust (b) Mantle (¢) Quintal (d) Kilogram
(c) Core (d) Volcano 24. (a) Short—Long (b) Man — Woman
5. (a) Tempest (b) Hurricane (c) Light—Heavy (d) Crime — Blame
(¢) Cyclone (d) Monsoon 25. (a) Tomato (b) Potato
6. (a) Microscope (b) Telescope (c) Onion (d) Carrot
(c) Periscope (d) Stethoscope 26. (a) Krishna (b) Cauvery
7. (a) Beautician: Parlour (b) Chemist: Medicine (c) Narmada (d) Mahanadi
(¢) Lawyer: Court (d) Engineer : Site 27. (a) Lakshdeep (b) Tamil Nadu
8. (a) Water : Thirst (b) Talent: Education (c) Andhra Pradesh (d) Kerala
(c¢) Food : Hunger (d) Air : Suffocation 28. (a) Nepal (b) Myanmar
9. (a) Fish: Piciculture (b) Birds : Horticulture (c) Bangladesh (d) Sri Lanka
(c) Bees : Apiculture (d) silkworm : Sericulture 29. (a) Silver (b) Platinum
10. (a) Twigs : Nest (b) Wood : Furniture (c) Zinc (d) Bronze
(c) Pitcher: Pottery (d) Gold: Ornaments 30. (a) Shimla (b) Darjeeling
11. (a) Venus: Shukra (b) Uranus : Indra (¢) Ooty (d) Agra
(¢) Mars : Mangal (d) Saturn : Budha 31. (a) Influenza (b) Scurvy
12. (a) Steel : Utensils (b) Bronze : Statue (c) Rickets (d) Night - blindness
(¢) Duralumin : Aircraft  (d) Iron : Rails 32. (a) Phycology : Algae (b) Ornithology : Birds
13. (a) scalpel : Surgeon (b) Chisel : Soldier (c) Mycology : Fungi (d) Biology : Botany
(¢) Awl: Cobbler (d) Knife : Thief 33. (a) Anther (b) Retina
14. (a) Cockroach : Antennae (b) Lizard : Flagella (c) Ovary (d) Petal
(¢) Hydra : Tentacles (d) Plasmodium : Cilia 34. (a) January, May (b) April, June
15. (a) Pyrometer : Radiation (b) Calorimeter: Heat (c) July, August (d) January, December
(c) Parameter : Area (d) Barometer : Humidity 35. (a) Asia (b) Canada
16. (a) Chandragupta : Mauryan (c) Europe (d) Africa
(b) Babar : Mughal 36. (a) Obstetrician (b) Podiatrist
(¢) Kanishka : Kushan (c) Pulmonologist (d) Prosthetist
(d) Mahavira : Jainism 37. (a) Liver (b) Pituitary
17. (a) Flurry : Blizzard (b) Moisten : Drench (¢) Adrenal (d) Thyroid
(c) Prick : Stab (d) Scrub : Polish 38. (a) Violet (b) Pink
18. (a) Mulder : Proteins (c) Blue (d) Orange
(b) Curie : Radium 39. (a) Tetanus (b) Pneumonia
© B.ecqu'erel : Rad'i(?activity (c) Tuberculosis (d) Hepatitis
(d) Einstein : Television 40. (a) Tulip (b) Lotus
19. (a) Taiwan : Taipei (b) China: Mongolia (¢) Marigold (d) Rose

(c) Iran: Teheran (d) Japan : Tokyo
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Classification

DIRECTIONS (Qs. 41-60): Select the odd word from the given

alternatives.
41. (a) 0-3-8 (b) 9-12-16

(c) 17-20-24 (d) 51-54-58
42. (a) 515-103 (b) 635-127

(c) 745-149 (d) 856-214

9 64 25 36

43. (a) 3 (b) 16 (©) 32 (d) o
44. (a) 6121 (b) 7364

(c) 1036 (d) 2710
45. (a) (96, 24) (b) (39, 18)

(c) (81,54) (d) (82,64)
46. (a) 543,453 (b) 243,432

(c) 234,342 (d) 354,543
47. (a) (17,71) (b) (23, 32)

(c) (19,90) (d) (46, 64)
48. (a) 97-16 (b) 78-15

(¢) 58-13 (d) 69-14
49. (a) Year 2012 (b) Year 1998

(c) Year 2015 (d) Year 1997
50. (a) 1,2,4,7 (b) 2,3,5,8

(¢) 3,4,6,9 (d) 4,2,3,9
51. (a) 45,6,7 (b) 15,3,4

(c) 35,5,6 (d) 23,4,5

10 8 5

52. (a) < (b) 2 (c) o d -
53. (a) (69,23) (b) (56, 19)

(c) (108, 36) (d) (42,14)
54. (a) (61,244) (b) (24, 96)

() (27,135) (d) (54,216)
55. (a) 564327 (b) 368127

(c) 876321 (d) 742956

. . . HINTS AND EXPLANATIONS . . . I

10.

LRAN R DD

(@)
(@)
(@)
(@)
(@)
(@)
(b)
(b)
(b)

56. (a) 4367 (b) 3245
(c) 6578 (d) 7689
57. (a) 8:25 (b) 15:46
(¢) 6:22 (d) 13:40
58. (a) 47632 (b) 32418
(c) 67626 (d) 84129
59. (a) 84,67 (b) 112,95
(c) 79,63 (d) 167,150
60. (a) 361 (b) 441
(c) 784 (d) 876
DIRECTIONS (Qs. 61-70) : Select the odd word from the given
alternatives.
61. (a) ABINM (b) QRTUZ
(¢) IXYOQ (d) WFGOP
62. (a) AbcdE (b) IfghO
(¢) ApgqrL (d) UlmnE
63. (a) Man=13114 (b) Ram=18113
(¢) Jug=10217 (d) Hub=282110
64. (a) FhjL (b) PrtV
(c) KnpR (d) Cegl
65. (a) dcba (b) zyxw
(¢) srpq (d) hgfe
66. (a) mmm qqq ttt (b) kkk 000 sss
(¢) ccc ggg kkk (d) bbb fffjjj
67. (a) SWYBE (b) HKNQT
(¢) QTWZC (d) CFILO
68. (a) ECA (b) GIK
(¢) QOM (d) WUS
69. (a) LNPR (b) HILN
(¢) SUVX (d) BDFH
70. (a) MT by CaJ
(¢) SZ (d) FN

All except Terrible are synonyms.
All except Smut are forms of fungi

All others are synonyms.

All except Volcano are parts of the earth.
All except Monsoon are violent winds.
All except Stethoscope are optical instruments.

In all other pairs, second is the place where first works.

In all other pairs, lack of first causes the second.

In all other pairs, second is the name given to artificial

rearing of the first.

11.

12.

13

14.

15.

(©
(@)
(@)

. (b)
(b)

(@)

In all other pairs, first is the material used to make the
second.

In all other pairs, second is the correct Indian name of
the planet denoted by the first.

In all other pairs, first is the alloy used to make the
second. (Iron is not an alloy but a metal.)

In all other pairs, first is a tool used by the second.

In all other pairs, second is the organ for movement of
the first.

In all other pairs, first is an instrument used to measure
the second.
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16.

17.
18.

19.
20.

21.

22,

23.
24.
25.
26.

27.

28.

29.

30.
31.

32.

33.
34.

3s.
36.
37.
38.
39.

40.

41.

(@)

()
()

(b)
(b)

()

()

()
(@)
(@)
(©

(@)
)
)

(d)
(@)

)

(b)
(b)

(b)
)
(@)
(b)
)

(b)

()

In all other pairs, second is the name of the dynasty
founded by the first.

In all other pairs, second is of higher intensity than the first.
In all other pairs, first is the name of the scientist who
discovered the second.

In all other pairs, second is the capital of the first.

In all other pairs, the given words are antonyms of
each other.

Except Rubber-Erase, in all others Activity and Place
relationship has been shown. In Rubber-Erase, the
Article and Function relationship has been shown.
Insinuation is different from the other words
Insinuate (Verb) means “to suggest something bad
about somebody/something is an unpleasant and
indirect way.” Insinuation (Noun) means “the action
of insinuating something.”

Except Gallon, all others are units of mass. Gallon is
the unit of volume.

Except the pair Crime — Blame, in all other pairs of
words one word is the antonym of the other.

Except Tomato, all others are modified roots or stems.
Narmada is a west flowing river and it flows into
Arabian Sea. All other rivers are east flowing and fall
into the Bay of Bengal.

Lakshadweep is a Union Territory.

Sri Lanka is an island nation. It is separated from India by
Palk Strait. In the north, India is adjoined by China, Nepal
and Bhutan. In the east lies Bangladesh and Myanmar.
Except Bronze, all others are metals. Bronze is an
alloy.

Except Agra, all others are hillstations.

Except Influenza, all others are diseases caused by
deficiency of vitamins.

The scientific study of the second is called the first in
all the pairs except Biology : Botany.

Except Retina, all others are parts of a flower.

Except the months of April and June, all other months
have 31 days each.

Except Canada, all others are continents. Canada is
northern half of North America.

Except prosthetist, all others are related to real
organs  of mankind.

Except liver, all other glands are smaller in size.
Except Pink, all other colours are parts of a rainbow.
Except hepatitis, all other diseases are caused by
bacteria. Hepatitis is caused by virus.

Lotus is different from all other flowers as it is grown
in muddy water.

0—2 535 48

9B s10H 16

17—5 520 504

51— 554 558

42.

44.

45.

46.

47.

48.

49.
50.

51.

@

. (b)

(@)
)

()

(@

(©

515 _, 635
103 127 7
745 s, 856 )

103 214

64 . o
In T’ one number is completely divisible by the

other number, Again, 16 is perfect square of 4 and 64
is perfect cube of 4.

%:4,4X4:16;4X4X4=64

Except the number 6121, all other numbers are even
numbers.

Except the number pair (82, 64), in all other number
pairs both the numbers are multiples of 3.

96=32x3; 24=8x3
39=13x3; 18=6x3
81=27x3; 54=18x3
5 4 3—»4 5 3

I | )

2 4 3432

2 3 4—3 4 2
[ =1
3 5 4—»35 4 3
[ —1

Except in the number pair (19, 90) in each of the
number pairs the digits have been interchanged.
97=9+7=16

78=7+8=15
58=5+8=13

But, 69=6+9=[15]
Year 2012 is a Leap Year.

1 +1 2 +2 4 +3 7
2 +1 3 +2 5 +3
3_Flg 2 e 43 g

4+12+13+69

45,6,7

= 6x7+3=42+3=45
15,3,4

= 3x4+3=12+3=15
23,4,5

= 4x5+3=20+3=23

But, 35,6, 5

= 6x5+5=30+5=35



A-14

52.

53.

54.

5S.

56.

57.

58.

59.

60.

61.

62.

Classification

(b)

(©

()

(@)
(©

(©

. .5 .
Except in the fraction P in all others the numerator is

greater than denominator.

Except in (56, 19), in all others the first number is
three times the second number.

23 x3 =69

36 x3=108

14x3=42

But, 19 x 3 =57

Except in the number pair (27, 135), in all others the
second number is four times of the first number.

61 x 4 =244

24 x4 =96

54 x4=216

But, 27 x 5 =135

The sum of digits is 27 except in the case of number
742956.

564327 =>5+6+4+3+2+7=27

368127 =>3+6+8+1+2+7=27

876321 =>8+7+6+3+2+1=27

But,

742956 = 7+4+2+9+5+6=33

Except in the case of 4367, in all others the difference
between the first half and the second half of the
number is 13.

4367 = 67-43=24

3245 =45-32=13

6578 = 78— 65=13

7689 = 89 —-76=13

Except in the number pair 6 : 22, in all other, the
relationship is:

x:xx3+1

8x3+1=25

15x3+1=46

13x3+1=40

But,

6x3+1=19

Except in the number 47632, in all other numbers the
first three digits constitute the square number of the
last two digits.

32418 = (18)2 =324

67626 = (26)? =676

84129 = (29)% = 841

84 - 67 = 17
112-95 = 17
167 - 150 = 17
But,

79 - 63 = 16

Other numbers given in options are perfect square of
a number.

Except in letter group IXYOQ in all others there is
only one Vowel.

In the letter group IXYOQ, there are two Vowels.
Except in A p q r L, in all other the first and the last
letters given in Capital are Vowels.

63. ) M A4 n

64.

65.

66.

67.

68.
69.

70.

(o)

(©

(@)

()

(b)
(©

)

VLl
13 1 14
The position number of letters in the English alphabet.
R a m
VLl
18 1 13
J wu
1L g
10 21 7
H u b
VLl
8 21 10
F +2 h +2 ] +2 L
P +2 r +2 t +2 v
K n 2, 2 g
Cot2ye 2, 2
d—L . Lyp 1y,
-1 -1 -1
z y X w
-1 -2 +1
s r p q
h -1 g —1 ! —1 e
[mmm} 4> qqq 3 e |
| kkk |ﬁ>| 000 45 sss |
[eee P4 geg 4 ik |
[obb P4 i 5 i |
S +4 W +2 Y +3 B +3 E
H +3 K +3 N +3 Q +3 T
Q +3 T +3 W +3 7 +3 C
C +3 F +3 I +3 L +3 0
In other options the gap between letters is equal.
L +2 N +2 P +2 R
H +2 j +2 L +2 N
S +2 U +1 v +2 X
B +2 D +2 F +2 H
M—
c— 5y
+7
s—— 7z
F%gN
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CHAPTER

A series is a sequence of numbers/alphabetical letters or both which follow a particular rule. Each element of series is called ‘a term’.
We have to analyse the pattern and find the missing term or next term to continue the pattern.

Types of Series are Explained in the following Chart :

) v ¥

V ) ¥

Number Alphabet Alpha-numeric
series series series

Mixed Letter Correspondence
series series series

Y y \l’

v y y

A series that is A series that is A series in
made by only made by only which both
number or digit alphabetic letters| [alphabets and
\]{ numbers are

used

1. Ascending series
2. Descending series
3. Oscillating series

NUMBER SERIES

Number series is a form of numbers in a certain sequence,
where some numbers are wrongly put into the series of numbers
or some number is missing in that series, we need to observe
first and then find the accurate number to that series of numbers.

Different types of Number Series

1. Perfect Square Series

This type of series are based on square of a number which
is in same order and one square number is missing in that
given series.

1. 841, ?,2401, 3481, 4761
Sol. 29%, 392,492, 592, 692
2. Perfect Cube Series

Perfect cube series is an arrangement of numbers is a
certain order, where some number which is in same order
and one cube is missing in that given series.

2. 4096, 4913, 5832, 7, 8000
16% 17°, 183, 193, 20°

Example /
Sol.

A series which | | A series of letters, | | A series consists of
is created by which follow a three sequence with

the combination| | certain pattern, is three different

of two or more | | given with four / elements (for ex.

than two series | | five times blank capital letters,

spaces in between.| | numbers and small
The order of letters). An element
missing letters of each sequence is
is correct answer. correspond to the
element of other
sequence on the
basis of the similarity
in position.

3. Mixed Number Series

Mixed number series is an arrangement of numbers in a
certain order. This type of series has more than one different
order which arranged alternatively in single series or created
according to any non conventional rule.

E.g 1, 111, 220, 438, ?, 1746.

3. 6,7,33,69, 141, 285

X243, x24+3,x24+3,x2+3,x2+3,x2+3
4. 4,16, 64, 256, 1024, ?

Example /
Sol.

Example /
Sol. Multiply each number by 4 to get the next number.

4x4=16

16 x 4=64
64 x 4 =256
256 x 4=1024

1024 x 4 = 4096

4. Geometric Number Series
Geometric Number series is an arrangement of numbers in
a certain order, where some numbers in this type of series
are based on ascending or descending order of numbers
and each continues number is obtain by multiplication or
division of the previous number with a static number.
In geometric series number is a combination of number
arranged.
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Series

E.g 5, 45, 405, 3645, ?
We get second number 45 by multiplying first number with
9 to get third number 405, we multiply second number by

9...... and same process continue ....... .
So, next number = 3645 x 9 = 32805.

FENIEP> 5. 21, 84, 336, ?, 5376
Sol. 21 x4=284
84 x4 =336
336 x4=1344

1344 x 4 = 5376

5. Prime Series
In which the terms are the prime numbers in order

6. 2,3,5,7,11,13, _ ,19

Sol. Here the terms of the series are the prime numbers in
order. The prime number after 13 is 17. So the answer to
this question is 17.

6. Alternate Primes
It can be explained by below examples

7. 5,11,17,23, ,41

Sol. Here the series is framed by taking the alternative prime
numbers. After 23, the prime number are 29 and 31. So the
answer is 31.

7. The difference of any term from its succeding term is
constant (either increasing series or decreasing series):

8. 4,7,10,13,16,19, _,25

Sol. Here the differnce of any term from its succeding term is
3.
7-4=3
10-7=3
so, the answer is 19 + 3 =22

8.  The difference between two consecutive terms will be
either increasing or decreasing by a constant number:

9. 2,10, 26, 50,82,

Sol. Here, the difference between two consecutive terms are

Example /

Example /

10-2=8

26-10=16
50-26=24
82-50=32

Here, the difference is increased by 8 (or you can say the
multiples of 8). So the next difference will be 40 (32 + 8).
So, the answer is 82 + 40 = 122

9.  The difference between two numbers can be multiplied by
a constant number:

10. 15,16, 19, 28,55,

Sol. Here, the differences between two numbers are

16-15=1
19-16=3
28—-19=9
55-28=27

Here, the difference is multiplied by 3. So, the next
difference will be 81. So, the answer is 55 + 81 = 136

10. The difference can be multiples by number which will be
increasing by a constant number:

11. 2,3,5,11,35,
Sol. The difference between two numbers are
3-2=1
5-3=2
11-5=6
35-11=24
Here, the difference is multiplied by (1 X 2 x 3 x4 x 5) so
next number is (35 + 120) 155.
11. Every third number can be the sum of the preceding two
numbers :
12. 3,5,8,13,21,

Sol. Here starting from third number

Example /

3+5=8
5+8=13
8+ 13=21

So, the answer is 13 +21 =34

12. Every third number can be the product of the preceeding
two numbers :

13. 1,2,2,4,8,32.

Sol. Here starting from the third number

Example /

1x2=2
2x2=4
2x4=8
4x8=32

So, the answer is 8 x 32 =256

13. Every succeeding term is got by multiplying the previous
term by a constant number or numbers which follow a
special pattern.

el 14. 5,15,45,135,
Sol. Here,
5x3=15
15 x3 =45
45 x3 =135

So, the answer is 135 x 3 =405

14. In certain series the terms are formed by various rule
(miscellaneous rules). By keen observation you have to
find out the rule and the appropriate answer.

15. 4,11,31,90,

Sol. Terms are,

Example /

4x3-1=11
11 x3-2=31
31x3 -3=90

So, the answer will be 90 X 3 —4 =266
Types of Questions
(I) Complete the series
(II) Find missing number of the series
(IIT) Find wrong number of the series

Examples on Number Series
(1) Complete the Series
16. Which of the following is the next term of

Example &~
series given below ?

4,6,9,13, ...
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(a) 17 (b) 18
Sel. ®4 6 9 13 [18]
+2 +3 +4 +5
So, 18 is correct answer.

(1) To Find the Missing Number of Series

() 19 (d 20

Example /
in the following series?

79,87,?,89, 83

17. What will come in place of question mark

(a) 80, (b) 81
Sol. (b) 79 87 89 83
So, 81 is correct answer.
(I1) To Find the Wrong Number in the Series

18. Find the wrong number in the series
3,8, 15, 24, 34, 48, 63.

(c) 82 (d) 88

(a) 15 (b) 15 () 34 (d) 63
Sol. (©) 22— 1,3 1,8 1,9 1,61 e
LETTER SERIES

What is letter series?

Letter series is a sequence of elements made of letters from
English alphabet. Such series follow a certain pattern

19. PR, T, V,X

Series pattern: Every next letter in the series takes place two
steps forward.

Types of the letter series:

(i) Forward order series:

20. D,G,J,M, P, S,V

Series pattern: Every next letter takes place 3 steps forward.
(ii) Backward order series:

21. U,R,0, L, I

Series pattern: Every next letter takes place 3 steps backward.
(iii) Multiple series:

22. G, V,D,W,E, X, F, Y

Series pattern:

Example /

1st series

C V. D,W, E X, F Y,

2nd series
(iv) Opposite letter series:
23. AZ, BY, CX, DW, EV
Series pattern: Each element of the series is made of two
opposite letters.

(v) Series based on letter position:
24. EF, CH, AJ, DG, BI

Example /
Series pattern: In each term, the sum of letter positions is equal
to 11.

Let us see:
EF CH Al

Wl

5+6=11 3+8=11 1+10=11 4+7=11 2+9=11
(vi) Small letter based series:

Example /
the given options.

ab_d aaba na badna b

25. Complete the following series with one of

(a) andaa (b) babda (c) badna
Series pattern: ab/adna/ab/adna/ab/adna/ab
Clearly, option (a) is the correct answer.

MIXED SERIES

Such series is a sequence of many elements made of numbers
and letters arranged from left to right. In some cases some
symbols may take place in such series. The symbols may be ‘+’,
x> < = ete. In other words we can say that a
mixed series is sequence of diverse elements.

Types of the mixed series:

(i) Forward sequence pattern:

26. E,-3,G,1,,5,K, 9

Series pattern: Letters and numbers take place alternately.
Every next letter is two letters ahead from the previous letter
and every next number increases by 4.

(ii) Backward sequence pattern:

27. T,13,R, 12, P, 11, N, 10, L, 9, J, 8

Series pattern: Letters and numbers take place alternately.
Every next letter is two letters backward from the previous letter
and every next number decreases by 1.

(iii) Mixed Sequence (Forward & backward both) pattern:

28. E, 45,1, 40, M, 35, Q, 30

Series pattern: Letters and numbers take place alternately.
Every next letter is four letters forward from the previous letter
and every next number decreases by 5.

(iv) Miscellaneous pattern

29. 25, M, 16, O, 25, R, 16, V

Series pattern: Letters and numbers take place alternately.
Every next letter takes place by skipping 1, 2 and 3 letters
respectively as diagram given below.

M({N) O R v

(d) dbanb

Example /

Example /°

Example /

Example /

Skipped Skipped Skipped

If we see the numbers, we find that they decreases by 9 and
increase by 9 alternately.

Examples on Alphabetic Series

SR 30. What will come in place of question mark
in the following series?
G H,J,M,?
(@ R (b) S © Q @@ Pp

Sol. ©0G H 1 wM[Q]

+1 +2 +3 +4
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Example //
in the following series?
DCXW, FEVU, HGTS, ?
(a) LKPO (b) ABYZ (c¢) JIRQ (d) LMRS
Sol. (c) JIRQ
—2 —2 -2
+2 +2 +2

31. What will come in place of question mark

| |
D C X W F E V U HG T S J 1 R Q
| |

+2 2 2
-2 -2 -2

Examples on Alpha-Numeric Series

Example /
in the following series?

K1,M3,P5T7,7?

32. What will come in place of question mark

@ Y9 () Y11 () V9
Sol. (a) Alphabets follow the sequence

K M P T Y
+2 +3 +4 +5

And numbers are increasing by 2

@ V11

Examples on Mixed Series

33. Complete the series
Z,L,X,J,V,H, T,F, ,
(a) D,R () R,D (¢ D,D d R,R
Sol. (b) The given sequence consists of two series
O Z,X,V,T, _
(i) L,J,H,F, . Both consisting of alternate letters in the
reverse order.

Next term of (i) series = R, and
Next term of (ii) series = D

Examples on Letter Series

Example /
blanks one after another will complete the given letter series?

baab-aba-bba- -

34. Which sequence of letters when placed at the

(a) bbaa (b) aaaa (c) abab
Sol. (d) baabba/baabba/ba.

(d) baba

Shorteut Approach

e  Ifnumbers are in ascending order in the number series then
number may be added or multiplied by certain number to
get the next number.

Both the series above are in the ascending order

(@ 19 23 26 30 33 37

(b) 1 3 12 60 360

e If numbers are in descending order in the number series

then, number may be subtracted or divided by certain
number to get the number.

Both the given series are in the descending order.
() 34 18 10 6 4 3
%) 720 120 24 1

6 2 1
| |
s(e) 200 165 148 117 104  ?

I ) | | B

35 -17 31 13 [
N I N
14+l

+18 8 —-14

Hence,  [M]=-13-14=-27

2=104-27=77

14 17 31 48 2 127
Y | A N | A A
3 14 17 31 48
3+14=17,14+17=31,17+31 =48
48+31=[79],79 + 48 = 127
Hence, 7 =179
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EXERCISE

DIRECTIONS (Qs.1 - 8): Which one set of letters when
sequentially placed at the gaps in the given letter series shall
complete it ?

1.

_aa_ba _bb_ab_aab

(a) babab

(b) aaabb(c)

~bbm_amb_m_a_ bb

(a) mbabm (b) abmab

(c) mabam (d) ambbm
ab _aa aaa a ab_a

(a) abbab (b) abaaa(c) aabba (d)
LU TUPLUBTU LUBT _ P_UBTUP

(a) PBUL (b) BPUL (¢) LBPU (d)
B CCABB CABBC AB _ CCA

(a) BCCB (b) BCBC (c) BBCC (d)
__aba_ ba ab

(a) bbaba (b) abbbb (c) baabb (d)
SH ELAS EELA HEELA SHEE A

(a) ELHA (b) EHSL (c) EEHS (d)
BR__NB_ O _NB

(a) OWOW (b) OWRW (¢) RORO (d)

bbaab (d) bbbaa

abbaa

BUPL

BBBC

abbab

HHSS

WNWN

DIRECTIONS (Qs. 9-32): A series is given, with one term
missing. Choose the correct alternative from the given ones that
will complete the series.

9.

10.

11.

12.

13.

14.

15.

16.

DIB, HMF, LQJ, ?

(@ OTM (b) QVO (¢) PVO
NOA, PQB, RSC, ?

(@ TUD (b) DTU (¢) ENO
DFI, KMP, 2, YAD

(@ QSV  (b) RTW (¢) SUX
313, 623, 933, 1243, 2

(a) 1863  (b) 2173  (c) 1553
975, 864, 753, 642, 2

(a) 431 (b) 314 (c) 531
15,31, 64, 131, ?

(a) 266 (b) 256 (c) 192
24,1116

3’7’6’21’31 S o

(a) m (b) 5 () 7

96 94 373 3353 ? 1341069

(a) 83819

(b) 53483 (c) 63813

(d)

(d)

(d)

(d)

(d)

(d)

(d)

(d)

PUN

FNQ

RTV

2483

532

524

53643

A-19
17. 4543832459757
(a) 4869 (b) 4846 (c) 4896 (d) 4852
18. 161640 140°?
(a) 804 (b) 840 (c) 408 (d) 968
19. IKM, NPR, SUW, ?
(a) XZB (b) XAZ (¢) AZX (d) ZAX
20. UXR, SVP, CFZ,?
(a) ADX (b) YBW (¢c) VXT (d) QUN
21. Z,W,S,P,L,LE,?
(a B (b) D () F (d) K
22. BIO ? XA
(@ T (b) R (© VvV (d P
23. 71,82,92,122,162,
7 6 5 4 37—
@ 2 ® 12 © 33 @ 16>
2 4 4
24. 24,35,20,31,16,27, ,
@ 9,9 (b) 8,25 (c) 12,23 (d) 5,30
25. 4,6,10,16,24,?
(a) 40 (b) 34 (¢) 30 (d) 28
26. 3,5,9,17,?
(a) 65 (b) 33 (c) 42 (d) 26
27. 3,5,35,10,12,35,  ,
(a) 19,35, (b) 17,19 (c¢) 19,24 (d) 22,35
28. 36, 34, 30, 28, 24, ?
(a) 26 (b) 23 (c) 22 (d) 20
29. AZBY, CXDW, EVFU, ?
(a) SHTG (b) GXHW (¢) GTHS (d) STHO
30. 325,259,204, 160, 127, 105, ?
(a) 94 (b) 96 (c) 98 (d) 100
31. CGJ,KOR, TXA,?
(a) ACE (b) JDP (c) DHK (d) UWY
32. B-1,D-2,F-4,H-8,J-16,?
(a) K-64 (b) L-32 (¢) M-32 (d) L-64
DIRECTIONS (Qs. 33-35) : Find the wrong number.
33. 25,27,29,31, 34,35
(a) 27 (b) 29 (c) 34 (d) 35
34. 1236, 2346, 3456, 4566, 5686
(a) 1236 (b) 3456 (c) 4566 (d) 5686
35. 12439, 23549, 34659, 45769, 57689
(a) 34659 (b) 23549 (c) 57689  (d) 12439
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Series

(c)
©
(d)
(b)
(@)
(d)
(b)
(b)
(d)

(@)

(b)

()
()
(@)
(d)

(@
()
(b)
(@)

()

HINTS AND EXPLANATIONS

baab/baab/baabbaab
mbb/maa/mbb/maa/mbb
abaaabaaabaaabaa

LU B TUP/LUBTU P/ LUBT U P/L UBTUP]

B B CCA/BB C CA/BBC C A/BB CCA
ab/ab/ab/ab/ab/ab

SHEELA/SHEELA/SHEELA/SHEELA

BROWN/BROWN/B

+4 +4 +4
[ \lll \l'I v

IB PUN

| +4 'N'N +4 'M +4 A

[ +4 [ +4 ]I +4

+1 +1

W%WT

[ Vi Vi \l'
DFI  KMP RTW YAD
Ll +7 MM +7 N4 +7 4
L+7 11+7 11 +7
313 623 933 1243 1553
[ 310 N +310 N +310 4| +310 %

975 864 753 642 531

[ =111 N =1t N =111 N =111 49

D
L

1341069

15 31 64 131 266
[ x 2+ 1M x2+ 2N x2+ M x2+4
T1 T1 T1
[ U U ¥
+2 +3 +4 +5
I U U N Y
2 4 7 1 16
3 7 13 21 31
[ N N N i
+4 +6 +8 +10
I N N i
+2 +2 +2
9 94 373 3353 53643 I
Ly 2N @ - 3MNx3) 4N <@ s x5y -6
45 43 83 245 975
[ x12 N o223 x34 M x45N x5-64%
16 16 40 140 840
=1 M 25 M <354 _x6 %
+5
+5
micl

I KM,N PR,S UW X ZB
Y M +s7 T

+5 +5
+5 +5
+3 +3 +3 +3
[~ ¥ [~V [ ¥ [V
U XR,S VP,C F Z,A D
(DR ) | 1 | 1
+3 +3 +3 +3

21.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

()

- (@

(@)

(©

(b)

(b)

(b)

(o)

(©

()

(o)

(b)

(©
(@)

(©)

7 6 5 4
=

4 4 4
=

24, 35,20,31,16,27,12,23

3, 5 9, 17,
R | | e |
1 2 3 4

+2 +2° 427 2

3 5 3510 12 35 17 19
| | MNAN A
+7 +2 || X

+0 +7
36) 9’ b 85 b 22’

+2 +2
325 259 204 160 127 105 94
66N —55MN 44N 33N 224N 114

[ N YRS T YIS N S N YIS Y
+1 +2 +3

X x2
+ I +2 I
B- D2 F4 HS8 J16 L-32
112 AN ]2 A ||+2 Iy
X2 X2 T
33

25 27 29 31 35
[ 24 2™ +2M 2N +24
5676

1236 2346 3456 4566 [5686
L+ M+t ML +1110 M +1110 4

\l,+l\f,+l i‘;‘-l i—%—l ‘l,+0
\1,+l\1,+1 \1,+1 \l;rl \1,+0
\1,+1\1,+l \1;1 \l;rl \LJrO
\1,+l\l,+1 \1,1 \l;r] \1,+0

=>5 6 6
Hence, number 57689 1S wrong.
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CHAPTER

INTRODUCTION

As we know that English alphabet is a group of English letters,
hence the problems based on alphabet are the problems based on
English letters. Problems under this segment are very important
part of the questions asked in various competitive exams to be
conducted for the purpose of requirement of officers and clerks.
Particularly for getting job in SSC, Railway & banking exams,
this type of questions cannot be ignored. This is the reason that
we will discuss every aspect of such problems so that students
do not face any kind of difficulty while solving the problems
related to English alphabet.

Types of Problems

(1) General series of alphabet

(2) Random series of alphabet

(3) Words in alphabetical order

(4) Problems of word formation

(5) Problems of letter gap

(6) Formation of word from letters of another word.
Now we will discuss all the six types of problems one by
one in detail.

(1) General Series of Alphabet

1. Which of the following letter is seventh to
the right of the 13™ letter from the left in a forward alphabet
series?

(@ R b T (© V
(e) None of these

Sol. (b) [* of all we will write the forward alphabet series as

given below:

ABCDEFGHTIIJKLM
A A

@ W

13th letter from left
QIS v v X

From above series it is clear that M is the 13" letter from
left and to the right of M (13" letter from left), T is the 7*
letter. Hence (b) is the correct option.

Here, we have solved this problem with a general method.
But this type of problem can also be approached through
quicker method that will help you save some extra
consumed time.

ALPHABET TEST

Shkorteut Approach-1

e I[fthe directions are same then subtraction of numbers takes
place.
e If the directions are opposite then addition of numbers
takes place.
Shortcut Method for above example
Now, for solving the sample question we apply this rule. As
we want to find out the 7" letter to the right of the 13™ letter
from the left, the directions are opposite and thus rule (b) will
be applied here. Hence we add 7 + 13 = 20. Therefore, the
answer will be 20" from left. Also, 20" from left less mean
26 —20 + 1 = 7" from right. We can easily see.
20" letter from left =T
Also 7" letter from right =T
This method also gives the answer choice (b).
After solving the sample question, you must have noticed that
the above mentioned trick is to calculate the actual position of
the required letter before going to search for it.

Other Variations of Such Type of Problems

Example /
reverse order, then find out the eighth letter to the right of O?

2. If alphabet series is given backward or in

(a) H b G
(e) None of these
So.,.) ZY X WV UTSRQPO
|N|M L|K|J|I|H|G F ED C
112 1314151617138
It’s clear (b) is the correct answer.

Note

Even with the forward alphabet series we can solve this problem
because the letter which is eight to the right of O in the reverse
order alphabet series must be eight to the left of O in forward
alphabet series.

3. If the 1st half of the (Alphabetical Series) is

() U @ X

B A

Example /
written in reverse order, then find out the letter that would
be 20™ letter from the right end.

(@ G (b) F
(e) None of these

Sol. (a) As the 2" half is not reversed, the 1% 13 letters would
be same when we do counting from right. But not
letters coming after 13" will be actually from the left.

() D @ H



Alphabet Test

Hence 14" letter from right would be A; 15" would be
B; 16" would be C and we move further in the same

manner. Hence from right 20™ letter would be is G.
Option (a) is the correct answer.

& Romembon...

I.  While solving the problems based on alphabet, you must
have in your mind the exact positions of every letters
of alphabet in forward order as well as in backward or
reverse order as given below:

Letters positions in forward alphabetical order:

AIB|C|D|E|F|G|H|I|J |[K|L |M
1123 (4|5(6|7 |8 |9|10]|11|12 |13

N |O (P |Q|R |S |T |U |V |W|X|Y |Z
14 (15]16 |17 |18 |19 20 |21 |22 |23 (24|25 |26

Letters positions in backward or reverse alphabetical
order:

ZIY|X|W|V|U|[T|S|R|Q|P|O|N
1121314 (5/6|7|8|9(10]|11|12]13

MLKJIHGFEDCBA‘

1414 (15]16|18|19|20|21|22|23 |24 (25|26

II.  Just keep in mind, the following positions of the letters
in the English alphabet (forward order).

(i) E J

(R A

5 10 20 25

EJOTY |—> Remember this word

:

CFILORUX| —> Remember this word

DHLPTX | —> Remember this word

III. mth element to be counted from left to right of a series
of x characters is equal to (x + 1 — m)th element to be
counted from right to left of that series. This rule can be
better illustrated by an example which is given below:

Let us take the forward order alphabet series,

A C G
1 3 7

B
2

D
4

N O |P [Q|R |S |T |U |V |W|X|Y |Z

14 |15 |16 |17 |18 {19 |20 |21 |22 |23 |24 |25 |26

As we know that English alphabet has 26 characters,
hence, we have x = 26.

E
5

F
6

H
8

I
9

J
10

K
11

L
12

M
13

Now suppose, we have to find out the position of K in
the above given series counting from right to left.
Position of ‘K’ in the english alphabet from left to right
is 11. Thus m =11

Position of K in the above given series from right to
left would be (26 +1—11)=16

Note

I, IT & III given under “Remember” tips are very important
as they are very helpful in solving problems based on general
series of alphabet. Readers are advised to take them as a rule.

How to Solve Problems When Letters are Dropped or Deleted
at Regular Intervals?

4.1f every 3 letter from left to right of english
alphabetical series is deleted, then what would be the 6™
letter from left in the new series obtained?

Sol. General method:
AB@DE@GH@J K@MN@
P Q®S T@VW@YZ

Here, deleted letters have been encircled and we find the
new series as given below:

A|B|D|E|G|H|J |K M
11213 1(4(51]6 (7 [8 |9
NP |Q|S|T |V |W]|Y |Z
1011 [12[13|14|15]16]17]18

It is clear, that 6™ letter from the left end in the new series
is H.
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Shortcut Approach - 2

No doubt, that general method gives the correct answer. But we
need to save extra consumed time and this is the reason we go
for a quicker approach.

As per the example, every third letter is deleted in the original
series. It does mean that we are left of two letters after every
deletion. Here, 2’ is the key digit for us and we have to find out
6™ letter from the left in the new obtained series. Therefore, we
have to find a digit which is just less than 6 but divisible by 2.
For this question the digit just less than 6 and divisible by 2 is 4.
Now we follow the operation given below:

. . 4
6" letter from the left in the new series = 6 +—

= 8™ [etter from the left in the original series, which is K.
In the same manners, we can find out any letter at a particular
position in the new obtained series.

16" letter from the left in the new obtained series

— 16412
2

= 23" ]etter from the left in the original series which is W.

18™ letter from the left in the new obtained series

~ 18418
2

= 26" letter from the left in the original series which is Z.
The sample example can be asked in following way also:
“If every third letter from left to right in English alphabet is

dropped (or deleted), then find out the 13" letter from right in
the new obtained series”.

ABCDEFGHIJKLMNO'tl?'(T\QRSTUVWXYZ

1

To solve this, we find first of all the number of letters in the new
obtained series.

As every third letter is dropped, hence we have

(26 — 2_36) =26 —8 =18 letters in the new series.

Point to be noted here that we divide 26 by 3 as every 3rd letter
26
is dropped and after division we take approximate value of 3

in round figure (approximate value of ? will be 8).

As per the example we have to find out 13™ letter from right in
the newly obtained series. This mean (18 + 1 — 13) = 6" letter
from left which is H.

Note

This quicker approach can also be applied to the dropping of
every 4%, 50 6" 7% and so on letters from left to right at
regular intervals.

How to Solve Problems Based on The Backward
(Reversed) Alphabet Series?

While solving problems based on general series of alphabet, we
come across the various cases. In some cases we see that whole
alphabet series is reversed but in some other cases 1% half of
the series is reversed, or second half of the series is reversed or
many segments of the alphabet series are reversed.

Let us take a case when a forward order alphabet series get
reversed in three segments. In 1% segment 8 letters get reversed;
in 2" segment the next 8 letters get reversed and in the 3%
segment the remaining 10 letters get reversed. Just see the
presentation given below:

0\

v
Get reversed

v
Get reversed

Get reversed

N
HGFEDCBAPONMLKIJIZYXWVUTSRDQ

(s

41 ()

(8 letters)

Now if you are asked to find out the 4™ letter from left in the
new obtained series, then through general method, we simply
do counting from left in the new series and find out our required
answer as ‘E’ because ‘E’ is at 4" position from left in the new
obtained series. But while solving such type of problems, we
have to do some time consuming formalities like (a) writing the
original series (b) writing and reversing the letters of original
series as per the question says and (c) counting them to get the
required answer. Such time consuming processes can be avoided
if we go through “Remember point III” and solve the question
with shortcut approach.

Shortcut Approach - 3

It is clear that 4" letter from left in the new obtained series falls
into first segment which has 8 letters. Hence 4™ letter in the new

(8 letters)

(10 letters)

obtained series = (8 + 1 — 4) = 5" letter from the left in the
original series. As we know that exact position of 5% letter from
left in the original alphabet series is the position of E. Hence E
is our required answer.

If we have to find out 18" letter from left in the new obtained
series, then that will be 16 + (10 + 1 —2) = 25" letter from left
in the original alphabet series, which is Y.

In fact, while finding out 18" letter, we can easily see that 18"
letter is the 2™ letter of 3™ segment and hence it will be not
affected by 1% two segments having 8 letters each. In other
words to find out 18" letter in the new obtained series, we have
to find out the 2™ letter in the 3™ segment. This is the reason
we find out the 2™ letter in the 3™ segment and then add the
16 letters of 1% two segment to get the 18" letter in the new
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obtained series. From this, we find that 18" letter from left in
the new obtained series is the 25" letter from left in the original
series. As 25" letter from left in the original series is Y. So (Y)
will be our required answer.

Readers are advised to practice such type of problems as much
as possible and after a certain time will notice that you have got
a skill to solve such problems in a few seconds and that too,
without the use of pen and paper.

How to Solve if Positions of Letters are Interchanged?

There is no any rule for such type of problems. Only the hard
practice can give you a skill to solve such questions in a quick
time.

. 5.1f A and C interchange their places, B and D

interchange their places, E and G interchange their place, F

and H interchange their places and so on, then which letter

will be 5 to the left of Q?
(@ P (b) N
(e) None of these.

Sol. (a) As per the question the interchanges take place as

follows:

SN SN
ABCDEFGHTIIJ
A

F A
Ly
Here we can see that Q interchanges with S. Then
to left of Q, the 5% letter would be P because P
interchanges with N.

How to Find the Middle Letter?

Case I : Remember that if m™ and n™ letter from the left in the
English alphabet are given then

© M @ T

SR 2N
K L MNOUP
a2 A

Y Z

m+n\"
Middle letter = T letter from the left.

Case II: Remember that if m™ and n™ letter from the right in the
English alphabet are given then

th
Middle letter = (mT-i-n) letter from right

oo =22

letter from the left in the English alphabet.

Note

In case I and case II (m + n) must be divisible by 2.
Case III : Remember that if the m™ letter from the left and the
n" letter from the right are given then middle letter

_ [(m—n)+27]
2

th letter from the left in the alphabet.

Note

In case III (m — n) + 27 must be divisible by 2.

(2) Random Series of Alphabet

This series is not in the proper sequence and letters take their
position in the series in jumbled manner. Further, there is also
a possibility that all the 26 letters of English alphabet are not
available in the series. Even same letters may be repeated in
the series.

6. How many letters in the following series are
immediately preceded by B but not immediately followed
by D?

RSPQBAHMACFBADNOPBACD.
Sol.

1\
RSPQB@HMACFB@DNOPB@CD
y y

Only the two times A fulfill the given condition and
those A have been marked with the correct sign (v'). Those
not fulfilling the condition have been marked with the cross
sign (x). .. Required answer is 2.

(3) Words in Alphabetical Order

Insuch type of questions, words are given and you have to find out
which word will appear in the dictionary. 1 or 2" or 3% or 4% etc.

Example //
in the dictionary?

7. Which of the following words will come 2nd

(a) Name (b) Shame
(d) Came (e) Wame
Sol. ‘Came’ comes 1% in the dictionary.

(¢) Fame

‘Fame’ comes 2™ in the dictionary.

‘Name’ comes 3% in the dictionary.

‘Shame’ comes 4 in the dictionary.

“Wame’ comes 5" in the dictionary.

(c) is the required answer.

(4) Problems of Word Formation
In such problems, a word is given and you have to find out the
number of words to be formed out of some letters drawn from
that particular word.
8. How many meaningful words can be
6™ and 8™ letter of the word

Example /
formed from the 3%, 4™
‘CONTROVERSIAL’?

Sol. C o@@R@ (I?R STAL
3rd 4th i'th 8th

Now from letters N T O and E, two meaningful words
‘NOTE’ and ‘TONE’ can be formed.

(5) Problems of Letter Gap
Casel:

9. How many pairs of letters are there in the
word ‘DREAMLAND’ which have as many letters between
them as in the English alphabet?

Sol. Here, we are asked to solve problem according to English
(Alphabetical Series). In this case we have to count both
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ways. It does mean that we have to count from left to right
and from right to left. Let us see the following presentation:

4
DREAMLAND

1

The above presentation makes it clear that the required
pairs of letters are 4. (Pairs: DA, EA, ML and LN)
Casell :

Example /
the word ‘DREAMLAND’ which have the same number of
letters between them as in the English alphabet in the same
sequence.

10. How many pairs of letters are there in

Sol. Here we are asked to solve problems according to the
alphabetical sequence. It does mean that we have to do
counting only from left to right. Let us, see the following

presentation:
DREAMLAND
[

The above presentation makes it clear that the required pair
of letters is only 1 (Pair: LN)

(6) Formation of word from the letters of another word:

Example /
word which can be formed using the letters of the given word.
ENDEARMENT

11. From the given alternative words, select the

(a) TEMPER (b) MEANS
() TENDER (d) TENT

Sol. (¢) TENDER is the word which can be formed from the
given word ENDEARMENT.

12. From the give alternative select the word
which cannot be formed using the letters of the given word.
TEACHER

(a) REACH (b) EATER
(¢) EARTH (d) TRACTOR
Sol. (d) TRACTOR is the word which cannot formed from the

given word as T does not comes twice in the original
word.

1. If it is possible to make only one meaningful word from
the second, fourth, fifth, seventh and eleventh letters of the
word ‘Distribution’, third letter of that word is your answer.
If more than one such word can be formed your answer is
‘M’and if no such word can be formed your answer is ‘X’.
(a) B (b) 1 () X (d M

2. How many such pairs of letters are there in the word
‘IDEAL’ each of which has as many letters between them
in the word as in the English alphabet ?

(a) Nil (b) One () Two (d) Four

3. If in the English Alphabet each consonant is substituted
by the immediate preceding letter and each vowel is
substituted by the immediate following letter, then the
word CAPITALISE will be written as:

(a) BBOJSBMIJRF (b) BBOJSBKIRD
(¢) BBQIJSBKIRF (d) BBOJSBKIRF

4. Ifitis possible to make only one meaningful English word
with the third, seventh, eighth and tenth letters of the word
PREDICAMENT, which of the following will be the third
letter of that word ? If no such word can be made, give ‘X’
as the answer and if more than one such word can be made,
give ‘Y’ as the answer.

(a) M (b) N
(¢) E @ X

5. The serial order of how many letters in the word CLIENT
will not differ than their serial order in the arrangement
when the letters of the word are arranged alphabetically?
(a) Four (b) One (c) Three (d) Two

EXERCISE

6. How many such pairs of letters are there in the word
EXCURSION, each of which has as many letters between
them in the word as they have in the English alphabet?

(a) One (b) Two
(c) Three (d) More than three

7. If it is possible to make only one meaningful word from
the second, third, sixth and eighth letters of the word
DEVIATION, the first letter of the meaningful word is
your answer. If more than one such word can be formed
your answer is ‘A’ and if no such word can be formed your
answer is ‘B’.

(@ V (b) T (c) E (d A

8. If each alternate letter beginning with the first in the word
WORKING is replaced by the next letter in the English
alphabet and each of the remaining letters is replaced by the
previous letter in the English alphabet, which of the following
will be the fourth from the right end after the replacement?
(@) N (b Q (¢) 1 (d M

9. How many three - letter meaningful words can be formed
from the word TEAR beginning with ‘A’ without repeating
any letter within that word?

(a) One (b) Three (c) Five (d) Two

10. In the word FLOURISH, all the vowels are first arranged
alphabetically and then all the consonants are arranged
alphabetically and then all the vowels are replaced by the
previous letter and all the consonants are replaced by the
next letter from the English alphabet. Which letter will be
third from the right end?
(a) 1 (b) S

() M @ Vv



11.

12.

13.

14.

15.

16.

17.

18.

Alphabet Test

If it is possible to make a meaningful word from the
second, third, tenth and eleventh letters of the word
PASSIONATELY using each letter only once, second letter
of that word is your answer. If no such word can be formed
your answer is X and if more than one word can be formed
your answer is Y.

(a) E (b) L () X d Y

If in the word CERTIFICATE, the first and the seventh
letters are interchanged, similarly the second and the
eighth letters are interchanged and so on up to the fifth and
eleventh letters are interchanged, then which letter will be
third to the right of sixth from the right end?

(a T (b) R () A (d C

How many such pairs of letters are there in the word
ELEVATION, each of which have as many letters between
them in the word as they have between them in the English

alphabet?
(a) One (b) Two
(c) Three (d) More than three

If each vowel in the word HABITUAL is changed to the
next letter in the English alphabet and each consonant
is changed to the previous letter in the English alphabet,
which of the following will be fourth from the left ?

(@) A (b) S (¢) 7 (d H

In this question, a word has been given following by four
other words, one of which cannot be formed by using the
letters of the given word. Find this word.
‘CHEMOTHERAPY”

(a) HECTARE (b) MOTHER

(c) THEATER (d) FATHER

From the given alternatives, select the word which can be
formed using the letters of the given word.

REMEMBERING
(a) NEGRO (b) AGREE
(c) RAIN (d) GREEN

In this question, a word has been given following by four
other words, one of which can not be formed by using the
letters of the given word. Find this word.

NOMENCLATURE
(a) CLEAN (b) MENTAL
(c) NATURE (d) RETIRE

How many pairs of letters are there in the word ‘TABLE’
each of which has as many letters between them in the
word, as they have between them in the English alphabet?
(@) Three (b) Two (c) One (d) Four

19.

20.

21.

22.

23.

24.

25.

How many pairs of letter are there in the word
COMMUNICATION which have as many letters between
them as in the English alphabet ?

(a) Four (b) Five (c) Six (d) Seven
How many such pairs of letters are there in the word
OVERSEE each of which has as many letters between them
in the word (in both forward and backward directions) as
they have between them in the English alphabetical series
(a) Three (b) One (c) Four (d) None

If each of the vowels in the word HONESTLY is changed
to the next letter in the English alphabetical series and each
consonant is changed to the previous letter in the English
alphabetical series, and then the alphabets so formed are
arranged in alphabetical order from left to right, which
of the following will be fifth from the left of the new
arrangement thus formed?

(a S (b) R (c) M (d P

If it is possible to make only one meaningful word
with the first, second, fifth and sixth letters of the word
PYGMALION, which of the following would be the
second letter of that word from the right end? If no such
word can be made, give ‘X’ as your answer and if more
than one such word can be formed, give your answer as ‘Z’
(a X (b) P (c) Z d A

How many meaningful English words can be formed,
starting with S, with the second, the fourth, the fifth and
the eighth letters of the word PERISHED, using each letter
only once in each word? (To be counted from left)

(a) None (b) One (¢) Two (d) Three
How many such pairs of letters are there in the word
STREAMING each of which has as many letters between
them in the word, as in the English alphabet ? (In both
forward and backward directions)

(a) None (b) One (¢) Two (d) Three

If it is possible to make only one meaningful English word
with the second, the third, the seventh and the eighth letters
of the word STEADFAST, which of the following will
be the second letter of that word? If no such word can be
formed, give ‘X’ as the answer and if more than one such
word can be formed, give ‘Y’ as the answer.

@) A b) T @) X @ Y
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A-27

. . . HINTS AND EXPLANATIONS . . . I

1.

10.

()

(b)

(@)

(@)

()

()
(d)

(©

(b)
(©

Order of letters is as follows :
1 2 3 4 5 6 7 8 910 11 12
D S TR I BUTTI ON

1
VR 2 2 2 v
I T R B 0

= OR[B]IT
According to the question we obtain five letters I, T,
R, B and ‘O’ which can form one meaningful word
‘ORBIT’. The third letter of that world is ‘B’.
Hence, required letter = B

TN
9 4 5 1 12
I D E A L
= DE
Here, we observe that in the above word, only ‘DE’ is
a letter pair each of which has as many letters between
them in the word as in the English alphabet.
Hence, number of required letter pair = One

C A P 1 T A L I S E
A Hd-d A dad mrdad v dad 1l
B B O J S BK J R F

Third, the seventh, eighth and tenth letters of the word
PREDICAMENT are E, A, M and N respectively.
Meaningful words are: Mean, Name and Mane.

C|L|I|E[N||T
C|E|I|L|N||T

1
EXCURSION
e — T
123456789
DEVIATION
Second, Third, Sixthand Eighth lettersare E, V,Tand O.
Meaningful words are : VETO, VOTE
R

\ae K I N G
+1| -1 +1] -1} +1| -1} +1
X N S J J M H
I
fourth from right

Meaningful words are : ARE, ART, ATE
According to the question

F L i) U R I S H
I O If F H L R S
I O U F HL R S
I
HNTGTI M S T
—

3rd from right

11. (d) Meaningful words are : SEAL and SALE.

12.

13.

14.

15.
16.
17.
18.

19.

20.

22.

23.

24.
25.

(b)

(@

(©

(@)
(@)
(@
(©

(©

(©

)

(@)

(b)

(d)
(@

According to question,
third to the right of F

ICATE[FCERTI
]

sixth from right

Fr— 1 M
ELEVATION
1

So, there are four pairs : EA, EI, VT, ON

Original word :
HABITUAL

Changed word :
GBAJSVBK

So, fourth from the left is J.

FATHER

GREEN

RETIRE can’t be formed using the above word.
T A B L E

C
l
[ I
O

H
G
FGKMI[P|R S X

7 8 9
G M

Meaningful Word PL.Y

Specified letters are E, I, S and D respectively. The
meaningful word that can be formed using these
letters once is SIDE.

v \7
S:{REAMIIl\IG

=
%)
~
>

The specified letters are T, E A and S respectively,
Meaningful words are SEAT and EAST



CHAPTER

In this segment of commonsense reasoning, secret messages
or words have to be decoded. They are coded as per a definite
pattern/ rule which should be identified first. Then the same
is applied to decode another coded word. Under this segment
you come across two types of coding letter coding and number
coding. Based on these two types of coding-decoding various
types of problems comes your way. This chapter makes you
familiar with every types of problems based on coding-decoding.

Type | : (Coding by Letter Shifting)
Pattern 1: Coding in Forward Sequence

1. If ‘GOOD’ is coded as ‘HPPE’, then how

Example //
will you code ‘BOLD’?

Sol. Here,every letter of the word ‘GOOD?’ shifts one place in
forward alphabetical sequence. Let us see:
G O O D

+1l +1l +1l +1l
H P P E

Similarly, every letter in the word ‘BOLD’ will move one
place in forward alphabetical sequence as given below:

B O L D
+1l +1l +1l +1l
C P M E
Code for ‘BOLD’ will be ‘CPME”.
Pattern 2: Coding in Backward Sequence.

2. If ‘NAME’ is coded as ‘MZLD’, then how

Example /
will you code ‘SAME’?

Sol. Here, every letter of the word ‘NAME’ moves one place in

backward alphabet sequence. Let us see:
N A M E

M Z L D
Similarly, every letter of the word ‘SAME’ will move one

place in backward alphabet sequence. Let us see :
A M E

IRRE!

Code for ‘SAME’ w1ll be ‘RZLD’.

CODING & DECODING

Pattern 3: Coding Based on Skipped Sequence.
Sl 3. If the word ‘FACT’ is coded as ‘IDFW’;
then how will you code ‘DEEP’?

Sol. Here, you see that 2 letters are omitted in alphabetic
sequence. The following diagram gives you the more clear

picture :
F A C T
+3l +3l +3l +3l
I D F W

‘F’ (skip 2 letters) ‘I’

‘A’ (skip 2 letters) ‘D’

‘C’ (skip 2 letters) ‘F’

‘T’ (skip 2 letters) ‘W’

Similarly, ‘DEEP’ can be coded Let us see :

+3l +3l +3l +3l
G H H
Code for ‘DEEP’ will be ‘GHHS’.

Clearly,

Type Il : (Coding by Analogy)

Example ” 4. If ‘RPTFA’ stands for ‘BLADE’, how will
you code ‘BALE’.

Sol. Here, ‘BLADE’ has been coded as ‘RPTFA’. You will see
that all the letters in the word ‘BALE’, which have to be
coded, are also there in the word ‘BLADE’. Hence, all
that needs to be done is to choose the relevant code letters
from the code word ‘RPTFA’. Therefore, B becomes R,
A becomes T, L becomes P, and E becomes A. Therefore,
‘BALE’ will be coded as ‘RTPA’.

Correct answer is ‘RTPA’.

Type Il : (Coding by Reversing Letters)

B> 5. If ‘TEMPERATURE’ is coded as
‘ERUTAREPMET’, then how will you code ‘EDUCATION’
following the same scheme.

Sol. Here, the word ‘TEMPERATURE’ has been reversed.
Hence, the code for ‘ EDUCATION’willbe ‘NOITACUDE’.

Type IV : (Coding in Fictitious Language)
In some cases of coding-decoding, fictitious language is used
to code some words. In such questions, the codes for a group of
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words is given. In such types of problems, codes for each word
can be found by eliminating the common words.

6. In a certain code language ‘over and above’
is written as ‘da pa ta’ and ‘old and beautiful’ is written as
‘sa na pa’. How is ‘over’ written in that code language?

Sol. over @ above = da @ ta

old @ beautiful = sa na @

clearly, ‘and’ is common in both and a common code is ‘pa’.
Code for ‘and’ must be ‘pa’.

Code for ‘over’ = ‘da’ or ‘ta’.

Code for above = ‘da’ or ‘ta’.

Code for old = ‘sa’ or ‘na’

Code for beautiful = ‘sa’ or ‘na’
We can’t certainly say what will be exact code for

‘over’. But it is sure that code for ‘over’ must be either ‘da’

or ‘ta’.

Type V : (Coding based on Numbers)

Pattern 1: When Numerical Values are Given to Words.

7. If in a certain language A is coded as 1, B is
coded as 2. C is coded as 3 and so on, then find the code for
AEECD.

Sol. As given the letters are coded as below:

A|B|C|D|E|F|G|H|I
1234|5 6|7|8|9
A|E|E|C|D

Now, 55|34

Code for AEECD = 15534

Pattern 2: When alphabetical code value are given for
numbers.

8. In a certain code 3 is coded as ‘R’, 4 is coded

Example /
as ‘D’, Sis coded as ‘N’, 6 is coded as ‘P’, then find the code
for ‘53446°.

Sol. As per the given condition
3 14|56
R|D|N|P

[5 |3 [4]4]¢]
[N|R[D]D|P]

Now,

Code for 53446 = NRDDP.

Type VI: (Mathematical Operations with the Position Numbers
of Letters)

9. In a certain code, if ‘TALE’ is written as

Example /
38, then how will you code ‘CAME’ using the same coding
scheme?

Sol. Look at the numbered alphabet and write down the number
corresponding to the letters of the word ‘TALE”’.

T A L E

20 1 125
The fact that the code for ‘TALE’ is 38, gives you a clue
that the code is probably obtained by performing an
arithmatical operations of the numbers of each other. Let
us see :
20+ 1+12+5=38
Thus, the code for ‘CAME’ is
C A M E
3+1+13+5=22

Code for ‘CAME’ =22

How to learn opposite letters:

A|B|C|D|E |F |G
Z|Y X |W|V|U|T|S |R|Q|P |O

—
~
=
<

Z

Trick to Remember

M N — Remember M N of MAN

L O - Remember L O of LOVE

K P — Kevin Piterson (English cricketer)

J Q — Jack & Queen (in the game of cards)
I R — Indian Railway

H S — Higher Secondary

G T — G T Road (Built by Shershah)

F U —» Remember F U of FLU

E V — Remember EV of EVM (Electronic Voting Machine)
D W — Remember D W of DEW

C X —» Remember CX of CRUX

BY — Remember the word ‘BY’

A Z — Remember it as it is
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EXERCISE

If EODGH is the code for BLADE, what is the code for
CRICKET?

(a) WHNFLUF (b) FULFNHW

(c) DSJDLFU (d) ETKEMGV

If EARTH is coded as 41590 and PALE as 2134, what is
the code for PEARL?

(a) 12345 (b) 54123

(c) 21534 (d) 24153

In a secret way of writing 'GANDHI WAS A GREAT
LEADER OF INDIA' is written as 'RUFZOJ SUV U
RDTUB QTUZTD EP JFZJU'. Keeping this in mind, pick
the code for each word given below from the choices given:
(i) STRONG

(a) VBDERE (b) VBDEER

(c) VBEDFR (d) VBDEFR
(i) ISLAND

(a) JVQUFZ (b) ZFUQVJ

(¢) QUFZIV (d) FUZIVQ

In a given code SISTER is coded as 535301. UNCLE as
84670 and BOY as 129. How is RUSTIC written in that
code?

(a) 633185 (b) 185336

(c) 363815 (d) 581363

If 'word' is coded as 2315184 then how will 'simple' be
coded as?

(a) 199237612 (b) 1991316125

(c) 21237643 (d) 22145783

If wall is called window, window 1is called door, door is
called floor, floor is called roof and roof'is called ventilator,
what will a person stand on?

(a) Door (b) Ventilator

(¢) Roof (d) Floor

In a certain code language ‘La Ke Ta’ means ‘go and
swim’, ‘Ne La Se’ means ‘you swim here’ and ‘Pe Ke Ne
Ta’ means ‘he and you go’. Which of the following is the
code for ‘here’ in that code language ?

(a) Cannot be determined (b) La

(¢) Ne (d) None of these

If 'spoon' is called 'plate 'plate’ is called 'knife', 'knife' is
called 'jug', 'jug' is called 'glass', 'glass' is called 'saucer' and
'saucer’ is called 'spoon', by what do we cut fruit?

(a) spoon ®) jug

(c) glass (d) saucer

If 'A' is substituted by 26, 'B' by 25 and so on upto 'Z'
which is substituted by 1, what will be the sum of the
numbers substituted for the word 'WAXY'?

(a) 33 (b) 35

(c) 37 (d) 73

10.

11.

13.

14.

15.

16.

17.

18.

19.

20.

If E is coded as V, D is coded as Q, N is coded as Z, G is
coded as T, R is coded as I and A is coded as M, which of the
following will be the correct form of the word DANGER?
(a) QMZTIV (b) QMZTVI

(c) QMZITV (d) QZMTV1

If'A' is substituted by 1, 'B' by 2 and so on upto 'Z' which
is substituted by 26, what will be, the sum of the numbers
substituted for the word DECAY?

(a) 38 (b) 41 (c) 40 (d) 37

If AMONG is written as NAOGM and SPINE is written as
NSIEP, then LAMON will be written as

(a) OALNM (b) MLONA
(c) OLMNA (d) OLNMA

In a certain code RETAIL is written as UFSBJM, how is
EXPECT written in that code?

(a) FQYFDU (b) QYFIJOF

(¢c) FYQFDU (d) QYFFDU

In a certain code NAMES is written as TFNBO.'How is
CRANE written in that code ?

(a) FMBQD (b) DSBOF

(c) FOBSD (d) FBODS

In a certain code DAYLONG is written as ZBEKHOP.
How is CORDIAL written in that code?

(a) SPDCMBJ (b) SPDEMBIJ

(c) DPSCMBJ (d) SPDCJBM

In a certain code language 'do re me' means 'he is late', 'fa
me la' means ‘she is early' and 'so ti do' means 'he leaves
soon'. Which code in that language means 'late'?

(a) la (b) do

(¢) me (d) None of these

In a certain code 'MOTHER' is written as OMHURF. How
will '"ANSWER' be written in that code ?

(a) NBWRRF (b) MAVSPE

(¢c) NBWTRD (d) NBXSSE

In a certain code DUPLICATE is written as MRV FJFVBE.
How is CARTOUCHE written in that code?

(a) UTBEPWDIJF (b) UTBFQFJDW

(c) UTBEQFJDW (d) UTBEPFIDW

In a certain code CHITON is written as IHCNOT. How
will DILATE be written in that code?

(a) ETALID (b) LIDATE

(c) LIDETA (d) ETADIL

If 8 is written as B, 1 as R, 6 as K, 9as O, 4 as M, 7 as W
and 3 as T, then how, would WROMBT be Written in the
numeric form?
(a) 714983
(c) 769483

(b) 719483
(d) 719486
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21.

22.

23.

24,

In a certain code HOUSE is written as FTVPI how is
CHAIR written in that code?

(a) DIBIS (b) SBIJID

(c) SHBGD (d) SJBID

In a certain code language 'in ba pe' means 'he has won',
'le ki ba' means 'she has lost' and 'in se pe' means 'he always
won'. Which word in that language means 'he'?

(a) in (b) pe

(c) se (d) Data inadequate

if 1 is coded as $, 5 is coded as %, 9 is coded as * , 3 is
coded as +, 7 is coded as # and 4 is coded as?, what will be
the correct code of the number 4359717

(a) ?2+% % #3$ (b) ?2+%$# %

(c) ?2+%%#S$ (d) $#*%+?

In a certain code SOLDIER is written as JFSCRNK. How
is GENIOUS written in that code?

(a) PVTHHFO (b) PVTHFDM

(c) PVTHMDF (d) TVPHFDM

26.

27.

28.

29.

30.

If in a certain code, LUTE is written as MUTE and FATE is
written as GATE, then how will BLUE be written in that code?
(a) CLUE (b) GLUE

(c) FLUE (d) SLUE

In a certain code, TWINKLE is written as SVHMIKD,
then how would FILTERS be written in the same code?
(a) EHKSDQR (b) EHKUDQR

(c) EGKUDQR (d) GIMSFST

In a certain code, PRODUCTIONS is written as
QQPCVEUHPMT. How is ORIENTATION written in that
code?

(a) PQIDOVBSJINO (b) PQIDOUBUJPO

(c) PSJFOVBSINO (d) NSHFMVBSINO

If, in a code, MIND becomes KGLB and ARGUE becomes
YPESC, then what will DIAGRAM be in that code?

(a) BGYEPYK (b) BGYPYEK

(c) GLPEYKGB (d) LKBGYPK

If in a certain code, GLAMOUR is written as [ICNMWP
and MISRULE is written as OGUSSNC, then how will
TOPICAL be written in that code?

(a) VMRIJECN (b) VMRHACIJ

(c) VMRIACI] (d) VNRJABJ

HINTS AND EXPLANATIONS

25. In a certain code MEADOW is written as BENVNC. How
is CORNER written in that code?
(a) DPSQDM (b) SPDMDQ
(c) SPDQDM (d) DPSMDQ
1. () As,B L A D E E H
| A A A A T
+3
+3
+3
+3
+3
Similarly,
C R 1 C K E T F U L H W
’ | . 4 A A A T
3
+3
+3
+3
3
3
3
2. (d) Codes for letters are: P=2, E=4, A=1, R=5 and L=3
Hence, code of PEARL is 24153
3. Here each letter of the original sentence is coded from
different letter in a code as shown below:
Sentence |GANDHI [WAS (A |GREAT |LEADER |OF |INDIA
Code RUFZOJ [SUV |U |[RDTUB |QTUZTD |EP |JFZJU

(i) (d) Hence, code for STRONG is VBDEFR
(ii) (a) And code for ISLAND is JVQUFZ

4.

(b) In this code the alphabets are coded as follows
SISTER UNCLE BOY
535301 84670 129
If we apply this method, the code comes out to be
185336

Here we observe that “W’ has been replaced by its
position code that is by 23. Similarly ‘O’ has been
replaced by 15 therefore the word ‘SIMPLE’ will be
coded as

S-19,1-9,M-13,P-16,L-12,E-5

Hence required will be code 1991316125

(¢) A person stands on the floor and in the given code
language, floor is called roof.

Hence, roof will be the correct answer.

(@) Ke Ta — go and [swim|
N9 [al Se — (you) Ewinthere
Pe ke @Ta—)heandgo

Hence, the code for ‘here’ is ‘Se’
We cut fruit with knife and knife is called jug, hence
correct answer is jug.

(b)

(b)
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9. (b)

10. (b)

11. (a)

12. (o)

13. (d)

14. (c)

15. (a)

W A X Y
4 +26 +3+ 2=35
D A N G E R
Q M Z T V 1
D E C A 'Y
4+5+3+1+25=38
1 2 3 4 5 4 1
A M O N G —- N A
1 2 3 4 5 4 1
S P I N E —- N S
Hence,
1 2 3 4 5 4 1 3
L A M O N - O L M
As
I L
+1
M
Similarly,
T
+1
Q U
N A M E S
\l,+1 4 \l,ﬂ +1 |+
O B N F T
\L reverse order
T F N B O
Similarly,
C R A N E
\Lﬂ \LH \LH \LH \LH
B O F
J, reverse order
F O B S D
As,
D A Y L O N G
KoL XK
+ N +1 +1 » +1
Z B E K H O P
Similarly,
C O R

X
s
L
L
N&——U

1 A L
K
M B J

’—‘UJOW

m v QW

Zm

"Ul\-)zt\)

> N

16. (d)

. re - . late

la. — she early

so ti —> leaves soon

Hence re — Late

17. (d) As

18. (d)

19. (o)

20. (b)
21. (d)

22. (d) in

M (@) T H E R
(@) M H U R F

Similarly,

A N S \'Y E R

N A W T R F

As,

DUPLTICATE
+1

YOI N NS

MR YV FJF VB E

Similarly,

CARTOUCHE
+1

+1

2 I8 +l+2+1 +2

UT BE PF JDW

As,

CHITON->IHCNOT

1 23456 3216 54

Similarly,

DILATE >LIDETA

123456 3216 54,

WROMBT—>719483

H O U S E

+1 +1\L+1 +1 +1l

I P V T F

Reverse order of code is FTVPI.

Similarly,

C H A I R

D I B ] S

Required code is SIBID.

pe —  he won
Ie ke —> she lost

in se pe — he always won
Code for word ‘he’ is ‘in or ‘pe’.
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CLUE

GATE,

-1

-1

N K L E

-1

L T E R S

I

W

MUTE,

+
C—Zz
|
—_— M|V2 M
+
= —>» _ MmO Qe
- < 2_Y h h h
<—>Mm | U%’W L{N A{C
+ &) o + + +
T B O« = De—» Ust—<
h h h
ATTO AR D OeE s Lo w e o e
m—-0 ¥ ¥ Iy
[ Zor= Ogrm <o <—»O0 n—>»D p——>
—= _ ! _ ¢ g g
R+ o I7_,yG RJVP I7_~VG d+——— —+——0 O s
n + + +
O—rpa ZS—>NM <—> A—Mm OU—»—~S5S— 50 —p>
e T i) ) ? g ?
_ .
© S = 3
N S
=3 a
e S
Z € Q<
< e Ue—— Se—
Ce— Te— Z — Ae—— |
N =< > o =
oy — > € Z €— [l n—
— & =R e €— Al €— +
aal 2 N4
w EEEE 4= e L .
I NN N A Y ] [T N nn m
o m— == o m
- El O 5 Z f
= < - 5 - =
— = Z = =)
o g H R E O— — =
) »n O = — B O— +
= ° =
N’ N N
< i ©
o (o] (o\]

T

27. (a)



CHAPTER

MEANING OF BLOOD RELATION

Blood relation does mean biological relation. Remember a wife
and husband are met biologically related but they are biological
parents of their own children. Similarly, brother, sister, paternal
grandfather, paternal grandmother, maternal grandfather,
maternal grandmother, grandson, granddaughter, niece, cousin
etc. are our blood relatives.

Types of Blood Relations

There are mainly two types of blood relations

(i) Blood relation from paternal side

(ii) Blood relation from maternal side

Now, we will discuss both kind of relations one-by one.

(i) Blood relation from paternal side : This type of blood
relation can be further subdivided into three types:

(a) Past generations of father : Great grandfather, great
grandmother, grandfather, grandmother etc.

(b) Parallel generations of father: Uncles (Brothers of
father). aunts (sisters of father) etc.

(¢) Future generations of father: Sons, daughters,
grandsons, granddaughters etc.

(ii) Blood relation from maternal side: This type of blood
relations can also be subdivided into three types:

(a) Past generations of mother: Maternal great
grandfather, maternal great grandmother, maternal
grandfather, maternal grandmother etc.

(b) Parallel generations of mother: Maternal uncles,
maternal aunts etc.

(c¢) Future generations of mother: Sons, daughters,
grandsons, granddaughters etc.

In the examinations, the questions are given in complicated way.
In other words, in the given questions, the easy relationship takes
the complicated form and examinees are expected to solve this
complication in order to find out the correct answer. How does
an examinee get rid of this complication? For this, an examinee
sees the given data in the question with a serious eye; then try
to establish relation among elements of given data on the basis
of certain logic and finally finds out the required answer. In fact
complications in the asked question occur because of the given
indirect relation. It is mean that the questions are in the form
of indirect relation & one has to convert this indirect relation
into direct relation. For example “only son of my father” does
mean ‘me’ (myself). Here in place of ‘me’ indirect relation has
been given in form of “only son of my father”. Similarly, “the

BLOOD RELATION

only daughter of the parents in laws of the husband of Vandana”
does mean ‘Vandana’ herself. In this example also the sentence
“the only daughter of the parents in laws of the husband of
‘Vandana’ has been given in the form of indirect relation. Below
are given some indirect relation in the form of a list. Examinees
are required to learn them with mind. If are keeps this list in
one’s mind, he/she will find it very easy to solve problems based

on the blood relations.

1. Son of father or mother Brother

2. Daughter of father or Sister
mother

3. Brother of father Paternal uncle

4.  Brother of mother Maternal uncle

5. Sister of father Aunt

6.  Sister of mother Maternal Aunt

7.  Father of father Grandfather

8. Father of father's father Great grand father

9.  Father of grandfather Great grandfather

10. Mother of father : Grandmother

11. Mother of father's mother: Great grandmother

12.  Mother of grandmother Great grandmother

13. Father of mother . Maternal grandfather

14. Father of mother's father : Great maternal grand father

15. Father of maternal : Great maternal grandfather
grandfather

16. Mother of mother Maternal grandmother

17.  Mother of Mother’s, mother : ~ Great maternal grandmother

18.  Mother of maternal Great maternal grandmother
grandmother

19.  Wife of father Mother

20. Husband of mother Father

21. Wife of Grandfather Grandmother

22. Husband of Grandmother : Grandfather

23.  Wife of son Daughter-in-law

24. Husband of daughter Son-in-law

25. Brother of Husband Brother-in-law

26. Brother of wife Brother-in-law

27. Sister of Husband Sister-in-law

28. Sister of wife Sister-in-law

29.  Son of brother Nephew

30. Daughter of brother Niece

31. Wife of brother Sister-in-law
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